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5.

b

_zlq#[a,a’l .

Section - A (Physics)

In half wave rectification, if the input frequency is
60 I L, then the output frequency would be:

(1 120 [z
{2} zero
(%) 30Hz
(1 601 ] Answer

A5 the temperature increases, the electrical
resistance :

{1}  decreases for conductors bul increases for
semiconduclors

(2}  increases {for both conductors and
semiconductors

(3} decreases for hoth conductors and
semiconductors

(1)  increascs for conductors but decreases for
semiconductors Answer

Let'l') and T e the onergy of an clectron in the first
and second excited states of hvdrogen atom,
respectively, According to the Bolhur's model of an
atom, theratio T, : T, is:

() 49:4 ) Answer
@) 1.4
3y 4:1
1 4.9

If a soap bubble expands, the pressure nside the
bubble :

{1} isequal to the atmospheric prossure
[{2] decreases ] Answer

(3]  increases

{4}  remains thesame

Tnthe given nuclear reaction, the element X is :
22
11

2
M Mg
@

23
(3 e

®

A copper wire of length 10 m and radius
(1024 /1 ) m has electrical resistance of 10{2. The
current density in the wire for an electric field
strength of 10V /m) is:

((  10°A/m? ] Answer
(2] 10% A fm¢
(3] 108 A m?
(4 1073 A/md

Ma— X+ ot+ v

LA
.“_Nd

fa}:e ] Answer
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3.

10,

T1.

_zlq#[a,a’l .

The energy that will be ideally radiated by a 100 kW
transmitter in 1 hour is:

Iy 1x1%]
() 36x107 ]

(3 3Bx1F|

(4)  FBx10°]

] Answer

Plane angle and solid angle have :

(1) Both units and dimensions

[(2] Thnils but no d.i_m::nsinns] Answer
(3)  Dimensions but no units

4 Nounits and no dimensions

Two objects of mass 10 kg and 20 kg respectively are
connected to the two ends of a rigid rod of length
0 mwith nepligiblemass, Lhe distance of the center
of mass of the system fram the 10 kg mass is ;

(1) S5m
(2) 1—;} m

[{3] % m ] Answer
(4  T0m

A spherical ball is dropped in a long column of a
highly viscous liquid. The curve in the graph
shown, which represents the specd of the ball () as
a function of time (t) is:

1 D
(2) A

E ] Answer
4 C

When light propagates through a material medium
of relative permittivity e and relative permeability
b thevelocity of light, v is given by @ {c - velocity of
light in vacuum)

['I."l} w= ".-'EFT] Answer
-\.I

r I-.'.r
() U=
™
{3} ° 1|I|I Er
) _ IIIE"
|2
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13.

14.

15.

16.
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12,

13.

14.

14,

_i,ITﬂi,ﬂ’l .

The angmlar speed of a fly wheel moving with
uniform angular acceleration changes from 1200
rpm e 3120 rpm in 16 seconds. The angular
acceleralion in rad /2 s -

(1 104w
2y 2=

EE: ) Answer
@ 12w

Given below are two stalements |

Slatement T;

Biot-Bavart's law gives us the expression for the

magnetic field strenglh of an infinitesimal current

element (Id1) of a current carryving conductor on Iy.

Statement I1:

Bint-3avarl’s law is analogous to Coulomb's inverse

square law of charge g, with the former being relatedd

to the field produced by a scalar source, Td1 while

the latler being produced by a vector source, .

In light of abave statements choose the most

appropriate answer from the eplions given

below

(1} Statement I is incorrect and Statement 17 is
corroct

{2)  Dolh Statement I and Statement 11 are correct

{3)  Both Statement | and Stalement Il are

incorrect
(1}  Statement I is correct and Statement 1T is
incorrect Answer

The dimensions [MLT 24 -2
(1) electric permithvity
{2} magmebc flux
(% self mductance
[[—I-j magmelic pv.-_-rn'leahilil}'] Answer

In a Young's double slit experiment, a student
observes 8 fringes in a certain segment of screen
when amonochroma lic light of 600 nim wavelenyth
15 used. If the wavelength of light is changed to
400 nm, then the number of fringes he would observe

in the same region of the screen ig:

] belomyr to the :

(i 12 ] Answer
2y &
2 8
T

The ratio of the radius of gyration of a [hin uniform
dise aboul an axis passing through its centre and
normal to ite plane to the radius of gyration of the
disc aboul its diameler s :

(1} 1:42
@ 21

(@ ME 1 ] Answer
@ 4
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17.

18,

I4.

21.

22,

1 mm TF=m amet frd et wimfermn 5 9fa freiidtes
fmm) W00 HL E 1 gy ufidfeis d1 4 1 9w yafe
FA 2, AiEfeTR S T OgrE A A R AT
1 T 26

Iy 628%10-*T
2y B28xI0 2T
@y 1036102 T
& 236=10 4T

T Tarep e srem AR I 2000 ke (Frm-mt)
FWY 15 ms | FTRR AE T TR TE TR
B T = fadve s ST T S A 3000 N B
Al A2 GR1 TR &l ASM i 7§ A0H i %1 JH
watts (FT) H F: (p=10ms—2

(1) 23500
3y 23000
(3 20000
4 34500

TEETE M (ac) BT 1 R ST A g

1 :1:@?#11115‘41"[?[ 17 T

2y 9fd = Y TR T S S F A E
(A acTT F rms (T G A ) AH F
([4)  ac BE & s 7 H 3 TAT

100 O TH 200 () WiodE At 9 9iedy fEEr faem

yiww F o wE A g ¥ R e mE F 00 0

A WA o 3E FEE e, 200 0 T wfhany

F 5T A S A I £

1) 4

2y 1:
2
1:

da = a2

T 60 g AT ATeH TR ey w1 R fag
T TR0 8, T 92 3,0 N % g wel Tl S
%1 71 g W A £ T daW % i F 09=
'E:‘]TEI:

{1} 180N /kg
2} DISN/kg
(3 SN kg
() 20N/kg

3 wEaATF A a5 A UL FIS W w
T 60° & =M W Tt ¥ areeiin e Taiae

TopTolf o =T o I T
1 120

() a0

@ 6o

4 90°

Code-R1

18,

19,

20.

1.

_zlq#[a,ﬂ’l .

A long solenoid of radius 1 mm has 100 turns per
mm, Tf 1 A current flows in the solenoid, the
magnelic field sbeogtl at the centre of the solenoid
is .
1y 628=10-*T
2y R28xID-2T

(@ 1256x10-2T)]Answer
@) 1256X 07T
An electric lift with a maximum load of 2000 kg
{lift + passengers) is muoving op with a constant
speed of 1.5 ms 1. The frictional farce opposing
the motion i 30N, The minimom poser deliversd
by the motor o bhe Tiftin walls is: (g="10ms 3}
(1} 23500
(Zy 23000
(3] 20000

() 34500 JAnswer
The peak vollage of the ac source s equal to:
1 1/42 Himes the rms value of the ac souwrce
2y thevalue of vollage supplied to the circuit
(3 the rms value of theac source

[ ) S times the mms value of ﬂ'l.]cAd”BSLWl:e r
Twn resistors of resistance, 100 0 and 200 3 arc
comnecled in parallel in an clectrical civewit. 'The
ralio of the thermal eneryry developed m 100 0 to
that in 200 £} in a given Hme is
1y 41
@2y 1:2

(@ 2:1 JAnswer
# 1:4
A body of mass 60 ¢ experiences a gravitational force
of 3.0 N, when placed al a particular paing, The
mignitude of the gravilational ficld intensity at that
puintis:
() 180N/ ke
2y COSN/Eg

(3} 50N/kg JAnswer
@ 20N ke
Alightray falls om a glass surface of refractive index
V3, atan angle &0°. Theangle between the refracked
and reflected rays would be:
(1
2 30°
(¥ al®

(g 9 JAnswer
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24,
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I I::IJJ
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I
PELT’ — P
il
' (]

e T qfiqut {a). (1) E[C}ﬁ,ﬁp—nﬂﬂlﬁﬁa’m
T AT JE F

(1) WHOd @) 0= (o) 5H1 H
(2) o ey (a) H
(3)  HAE IO by H
) FET Y oy H

B A FTF T O - S THH @ T 5

. VBT E5TH, THATIE, AT U6 FHATEAE § 1,

26.

2,374 4 W U T8 9 W TR YT F HEHT i)
%, ?ﬁ?'%

(1 4
2
3 2
4 A

;ﬁﬂ%ﬁgﬁi@aﬁqﬁmﬁﬁam%ﬁﬁmmaﬁv
M

150+
2 o
{3 45
4 o

%1 TR & = femares-ass st fag i weiva
1-38 H HmEI: 30° UH 45° H R0 I E| T
FUI: I 1 S B

k.

i

(1} L: .\,-riz.
NCEE
(3 11
() 1:2

24,

5.

pid 8

_ZITﬂE,a’I .

In the given circuits (a), (b} and (¢}, the potential
drop across the two p-n junctions are equal
in

((1)  Bothcircuits (a)and ()] Answer
{4  Circuit{ajonly
(3 Circuit {byonly
(4)  Circuit {c) only

Anideal gras undergoes four different processes from
the same initial state as shown in the figure below.
Those processes are adiabatic, isothermal, isobaric
and isochoric. The curve which represents the
adiabatic process among 1, 2,3 and 4 is

-~

r

!

(1 4
{2 1

(@ 2 JAnswer
(£

The angle between the electric lines of force and the
equipotential surtace is :

(1) 180
(2) o
(3)  45°
(@ oo JAnswer

The displacement-time graphs of two moving
particles make angles of 30° and 43° with the
x-axis as shown in the fipure. The ratio of their
respective velocity is ¢

1

"
[m 1:
@ 5
3 1:1
(4 1:2
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25,

29,

an.

=gt =9 4 fia gu et fors g v, oo, 7= | 27

i T H T R g wmagma R |

(1 1:1:1:1 j
2} 1:2:3:4 |
3 1:4:9:16 :
() 1-3:5:7

TF m TETHA T ] WHeaF =9 § fogr smmen =
T &, TE A 9 # faoEfan wm E, fa-eh e
I STAM 2:2: 1 | 1% T FEImE g% 96, TF-
T wean fawsd § o 7 F AW £, A v

t_ 1 ] 3 \.‘IE i
2] w
3 2w

@ 2420

fod feme o0 % U a9 1 e 20 cm &1 A1
W ¥ e W e 1.5, Ao S mee

{1y =
{7y +2D
) +20D
kY] 450

e T o F-ae T aeeed (n) % afiads T T
fafem =3 (p) = wRfiE A = Wi ¥

T
MY
(1) \
—
A o
% e
2 /
- |
&
!
i A
)] \
4 [
n !
) /
_—p_'

Code-R1

29,

_alqﬂ:[a,a’l .

I'ne ratio of the distances travelled by a freely falling
body in the 15, 2rd 3rd 4nd 4% sacond -

1} 1:1:1:1

(2 1:2:3:4

(3 T:4:9:16
[I'—l} 1:3:3:7 ]Answer

Ashell of mass mis at restinitially. Ikexplodes into
three fragments having masg in the rabio 2:2: 1. If
the fragmenis having equal mass fly off alung
mulually perpendicular dircctions with spoed @, the
speed of the third (lighter) fragment is:

(M 3,2 ¢
i W
3y 2w
(@ 242w ) Answer

A bwonvex lens has radit of curvature, 20 om each.
It the refractive index of the maberial of the Tens is
1.5, the power of the lens is

(1) infinity
2y 42D
(33 420D
(4 +5D ) Answer

The graph which shows the variation of the do
Hroglic wavelength () of a particle and its associated
momentum (p) is:

ull
(1) ' III\ Answer
E_Th
fl
@
ra—
| \
) L \
P—P—
T I|
w
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31, = A T T T g S 3. E::-‘hnn two monochromatic lights of frequency, vand
TFEFETT TEE ARE A E & = e 5 ae incident on a photoelectric metal, their
Wy . . V.
(stopping potential) FEI: 2—"' LCAUR I G AN stopping potential becomes — and ¥ respectivel.
T ¥ Toe See amgta g The threshold frequency for this melal is:
3 , 3
W 5 [{1} 5" ] Answer
2 2 2y 2w
(3 3 (3 v
z 2
@ 3 CYR
32, Malch List-Twith List-1II:
32, |Er- 1T gE- 10 ¥ faem w5 List-T List - 11
el - 1 - 11 {Electromagnetic waves) (Wavelength)
( ﬁﬂ-@w T ) (T ) (a)  AMradio waves {i) 10" m
() o g e e @ 109 m (b)  Microwaves (i) 1Fm
. = . fc)  Infrared radiations (i) 10 *Tm
(b)  HETWA iy  10°m i
. e (d)  X-ravs {ivi 10" *m
() 1 fafwm (i) 10 2m Choos . N
i : ‘hoose the catrect answer from the options given
(d) X-Toaet {ivy 107 Tm below
A R T faedi H 0 ué’raﬂt?ﬁ (1) fa)-(ii) (b} i, () - (iv), (- (i) | Answer
(1y - (a)- (i), (b -{idi). o) - (iv). (d) - (i) (2 {a)- (1), {b) - (i), (c} - ii). (d) - ()
@ (@) () Gl (0)- +;nn -0 ) @)= i), (b)), () 6 (- (v)
Ay (a) - i), (b) - (1), () - (1) () - (v} # 1_ﬂ}| (i), {b) - (iv), (<) - (i), (d) - i)
) (a)- (i), (b) - (iv], (o) - (id). {d)- (3)

33, Am T TH 1 O HIT A1 U SRR 2, 0.5 T Al | 33, A square loop of side 1 m and resistance 1 € is
e I A T T | i L A, TR A placed in a magnetic field of 0.5 T. If the planc of
fom eeEd &, AT o e TEHE T Jlmp is perpendicular to the direction of magnebic
A & - ficld, the magnetic flux through the loop is:

s iy zerowebor
() FAER (2} 2 weber
(2) 2% : =
. . (@ 0.5 weber JAnswer
(3) 059 @ 1weber
(4 19 '
o 34, Two hollow conducting spheres of radii Ry and R,

3. KR, TER, ﬁmag {Ry>>R,) 71t &} Wiaet =er Tt (R, =>Rq) have equal charges. The potential would

T THE AR E | A FYE % HE g be:
(1) 7 % erdd =t Tadmemadi W St o (1) de]]:rendent on the material property of the
y e o
) . {2y maore enbigger sphere
(3) T T W = : :
e . . [{3} more on smaller sphere ] Answer
(4) . aHE T 9 HEE : : :
g {4y equalonboth the spheres

35, g Tl = Ei = TH S T H W WREYE AH | 35, [fthe initial tensionona stretched string is doubled,
gy 'E?l‘ﬂE, :lT T TR T T A ATee W then the ratic of the initial and final speeds of a
=ty T HfER Tl F s transverse wave along the string is
(1) 1:2 (n 1:2
2 1:1 @ 1:1
(3 G2 M W2
@ 1.3 (@ 1..72 )JAnswer
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a7

34,

W - B ( Mifeant )

121 cm T& 100 cm 715 915 51 21076 FOF 571 =
FEE T U A B | Rl o 2 s
I Wy sEEns U mHE F W ) g =
T & FaH | B W@ 2, Wb T A T
BT TR & wre Tefaet T WHE we o w5

1y &8
2y 11
(9
(4 10

10 H (370) 5=, 10 uF 9 9 50 ) W

A U At LOR 70094, ¥ — 200 sing100 () volt |

AT BIe U weEred] O (a.c.) F9 & 71" {2 g

¥ | Af LCR wfms F1 a7 3 v, TF ac 50 #

Cﬂ'lqﬁ'l'w%, Gl
100

(1} v = 1M Hz;ur_ = __ H=r
{2) v, =v=50Hz
Al

» == —
@ v -

50
{4} v,— ?llz,v:ﬁﬂllz
1000 5 O 10 m i ST T el e o e

Frewt, o7 i = F e 2rad sl H T F

EeRC R ARG CR-C R ol b o e 2
FHAEL 9ZF HAA2 210 5T E, U8 F5a1 F 377
A F A 12.56 O 8, 9 e | Ui 9w o=
AT | &1

1y 2A
2y 0254
#1554
4 1A

Fom 8 il srpm, 5 faeg oawl — g 7= + g F, LT
T T T

q tq

o — [ —»
Zi R (R>>1) % W9, Taw@ &= &1 dign =@ ofmm
TR qEfaT 26

1
i) RY
1
2 LT
1
) e
1
@ EF

Code-R1

_z.lﬂ#[a.ﬂ’l .

Section - B (Physics)

Two pendulums of length 121 cm and 100 < start
vibraling in phase. Atsome instant, the two are at
their mean posibion in the same phase. The
minimum npmher of vibrabloms of the shorter
pendull.l.m afler which the hwo ate again in phase at
the mean position is -

{1y 8

(@ m ] Answer
3 Y
(4 0

A series TOR circuit with inductance 10 H,
capacitance 10 wF, resistance 50 {2 is connected to
an ac source of voltage, V = 200 sin{100 t) voli. [l the
resonant frequency of the TOR circuit is v, and the
frequency of the ac sonree is v, then

100
(1) vo= 100z v = -7 Tl
1 v, =uv=5b01L
20
[[:.'!‘:' p” =y = :‘T Hz ]Answer

5—:_] Hz, --3011=

@ v,
A big circular coil of OO0 turns and average radius
10 m is rotabing about its horizontal diameler at
2rad s ' 1f the vertical component of earth’s
magnelic field at that place is 2x 1077 T and
electrical resistance of the coil 15 12,56 (2, then the
maximum induced currentin the coil will be

Iy  2A
2)  D25A
(3 154
(@ 1A ) Answer

Two point charges —q and +q are placed atb a
distance of L, as shown inthe figure,

-9 Tq
< L >

"The magnitude of electric ficld intensity at a distance
I (==L} varies as .

1
(M ge

1
() I

]Answer

(& =
1
1

cd
@
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40,

41.

42,

“ferr F fimefi e SRR, A A e

HARE A TR we v HE an el s e

W Wl 21 T €, 50 A i e A da E

(1) o = "\ Ak, 3 F TR F Y e
TEE 9 Y W 8, U T A 91 F S
A7 H e T e d a2

() UFAEwE e A 5 e fem A

(3) TR HWaE, W F e ¥ wY E e
T = W W 2, UE T a1 TR ¥ A
a9 e M T A s

(4) TR HI " T, T F T w H
W ¥ F 5T €, US T9F =@iE a7 & Al
A H 1/ Tl e e 7

T o Twid ATEn, iedie i Y F 59 9

Tiafin FT A9 W X T T & §

wE T B w T e w2 x & watfis

ITE AT & T wirei p e -
——

B

() W R adE T T

(2) W HH T 2% % WA ¥ e g =9

J3). TR SR Us g d ey )

(4) TE TS US STHET 2 AE

9 () d =9 2 Em, C =900 prF Wit = Ft

WA F 100 V A Fedl 5w 50 Pha: srefi
o o &1 Twek AT W a2 F T W o fe
I &, TH T (b) % ATHR C =900 pF e o
fereil gE srmatfem wefor & =y =i fom = &1

Code-R1

40,

41.

42,

_alqﬁ[i,ﬂ’l .

From Ampere’s cirouital law for a long straight wire
of circular cross-section carrving a steady current,
the variation of magnetic ficld in the inside and
vutside region of the wircis

(1) - alinearly decreasing function of distance uptoe
the boundary of the wire and then a lincarly
increasing one for the cutside region.

{2 uniform and remains constant for both the
reTioms,

(31 alincarly increasing function of distance upto

the baundary of the wire and then lincarly
decreasing for the outside region.

4} a linearly increasing function of distance
upto the boundary of the wire and then
decreasing one with 1/t dependence for the

outside region, Answer

A whealslone bridge is used to determine the value
of unknown resistance X by adjusting the variable
resislance Y as shewn in the Hgure, For the most
precise measurement of X, the resistances Pand Q-

donal play any significant rale
should be approximately equal to 2X

)
)

3)  should be approximately equal and are small ]
) should be very large and uncqual Answer

A capacitor of capacitance C =900 pl is charged
fully by 100V battery B as shown in figure (a). Then
it is disconnecked from the battery and connected
to another uncharged capacitor of capacitance
=900 pF as shown in figure (b), The electrostatic

3 (b} ST i méﬂlﬂﬁﬂ ¥, energy stored by the system (b) is;
= + o+ = sl
Jil_i -LlC-L " +C- o e

. . d
{a1) (k) - . + -
iz | 41F - sl |
B o g -

) 15x10-%] (M 13xW=0]

2)  45x10 5] () 45x107°]

(3 33BEx1070] (3] 325x10°F] _

()  225x1079] (&) 225x10 *]) Answer
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43.

45.

180 FEAAT T N U MR, 125 U9 64 2579
wEms A & e J geam 1 2 T Al

A Tl %1 AU
(f} 25:16

2 1:1

(}  4:5

(4 5:4

A s wfoe o B2 W, A T AT T A
4.3 kg el o [T G Tefen T e g

() S6md
2y 56x100 m’
(3 5.6x10°% m3
M) 56x107% m?
T
— <
B
fam . wfiqy ¥ fou oo e &
A B|C
0 0] 0
¢ 1] 1
(1) 1 0| o
1 1101
M B C
OO )
o 1|1
(2 101
1 1| o
A BlC
o 0|1
» ot o
(3) 1 ol o
1 1 |1
A B|cC
oo 1
o 11| o
() 1 0]
1 1 o

e o B 60 F R W10 ms ~LF T
Andfmirn s 2| Wy s Afream SEE W
THF T B

T 10 ms?
@ A
(3} 5y3ms™!
4 Sms?

Code-R1

4,

45,

_zlq#[a,a’l .

A nucleus of mass number 189 splits into bwo nucled
having mass number 125 and 64, The ratio of radius
ot two daughter nuclei respectively is :

(1 25:16
2 1:1
(3 4:5

(4} 5:4 ) Answer

The volums occupied by the molecules contained in
4.5 kg water at STP, if the intermolecular forces
vanish away is:

(1 S6m’ ) Answer
2} 5.6x10°m?
(3} 561 m
1) 56x107*m?
A
C
B
The truth table for the given logic crcuitis:
A B | C
0 0| 0
0 1 |
(1 1 0| o
1 1 1
A B|
0 0| 0
0 1 | 1
(2) 1 0|1
1 1| 0
A B |C
T
{] 1 1]
(3} 10| o
T 1 |7
A B | C
o 0] 1
n 1 ] Answer
(4} 1 0 1
1 1 0

A ball is projected with a welocity, 10 ms~4, at an
angle of 60° with the vertical direction. Tts speed at
the highest point of its trajectory will be:

1) 10 ms1
{2 Zero

(™ 53ms~! ] Answer
4y Sms!
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47,

48,

449,

1IN

21 giEgl Wi A vE B, Rdt oode ot e s
AR TE T | T2 WAt O WehTe ST
1.5 % 108 /s TA 2.0 108 m/ s B 1 9 241 85wy 3
fefll, Ushl¥l =i {101 21 Hlf=oah I §

(1 tan~! {D.750)

{2} sin {0500

(3 sin {0750

@ tan 1(0.500)

i 31 =y T T £ - e E T SfifeReE (A) 51

Tt & e 780 S (R) 50 Pl 2

AR (A):

foraft foim =t wow (== I, =9 e+ = &

ST TV ZR aftwfe 2 )

AT (R) :

arEt wer T =t T s © e ot

TR FA o AR °, G e T e F A

Haifers Iuge I 1

(L) (A) 2w 2, Ry T £

(2) %ﬂlﬁ[ﬂ]ﬁmﬁﬁ[ﬂ],m}aﬁﬂﬁm
|

(% (&) T (R) A w4 E, T (R), (A) T wE
A T 2

) (AT E fE R) s R

et - 13T - 11 % Ty faem e

-1 - 1L
(a) T EUEG) () (LT
(by e TR FE (@) ML)
() AR EE (iily [LT-7
(dy  TEEE A {iv) [ML3T-2|
= fou o faeedl § 9 Al s 1 -

(M (a)-{iv), (b}~ (i), () - (), () - i)
(2 (@)= (i), (b)- (i), () - (iv), {d) - i)
)] (&) - {11y, (b) - (1w}, {c) - (i), {d} = (it}
(1) (a)-{id), (b) - (iv), {c) - (i), () - ()

55.3 m T UH 25 m e A AFEER &7
WS (o W) 1 9H, Frreas qois 99 & o5 w68
I |

(1 14x10°
(21 13810
(3 1382

(41 138205

Code-R1

47,

48,

49,

50,

_zlﬂ#[a,ﬂ’l .

Two transparent media A and B are separated by a
plane boundary. Thespeed of light in those media
are 1.5x10% m/s and 2.0x 10° m/s, respectively.
The critical angrle for a ray of light for these bwo media
H

{1y

tan— L {0.730)
(D) sin~L{0.500)
((3)  sin~}{0750) ] Answer
{4)  tan— {0500

Given wlow are bvn stalements : One is labelled as
Assertion (A) and the other is labelled as Reason
(12).

Asgsertion (A):

The stretching of a spring is determined by the shear
modulus of the material of the spring.

Reason (R} :

A coil spring of copper has more lensile sirenath
than a slecl spring of same dimensions.

In the light of the above stalements, chocse the most
appropriate answer from the options given below :
(1) (A)isfalsebut(R)istrue | Answer

(2  Both(A)and (R} aretrue and (R)is thecorrect
explanation of (A)

&) Both {A) and (R} are trac and ({R) is not the
correct explanation of (A)

) (A)is beue bul{R) is [alse

BMatch List -1 with List-11:
List-1

(a)  Gravitational n
constant ()

List-T1
12T 9

()  Gravitational (i) [M-ILAT—9
potential energy

(€)  Gravitational (i) [LT 9
potential

(d)  Gravitational (iv)  [ML2T 4
intensity

Choose Lhe correcl answer [rom the oplions given
below

(1) ()= (iw), (0 - (i), (<) - (1), ) - ()
(2) (@)= (i), (b)- (i) (c)- (iv), (e} - (i)

() (@)= (i), (b)- (iv), (c)- (D) (d) - (i) Answer
[4) i a} - (ii], ib)- (iv':, {c)- {[ii}, fudy- (1)

The area of a rectangular Ficld {in m:’-} af length
553 mand breadth 25 m aller rounding off the value
for correct significant digits s -

(1) 14x102 JAnswer
(2} 138 %101
(3) 1382
(4) 13823
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HAUTT - A { THIESFT )

51. U O T WO S 119, % IUPAC T
im unuioctinm
(2} ununennium
13-

4y wnununniuom

52 WEEHI o T e A
{1y T=eq Tt favm wfufea i feamm 5

fema aify fafeme 8 &

(2)  TEEEE A S A

THEE TR S o8 TEH 3wl
Tl | w1 FFH T EE)

4 U e R

unmnilenniam

53, A o I wfefead g £
MnOy + 81 +3¢7 — Mn?' =4 H,0,

Famn2* pgno; — ~1-310V

1 F —
— } + 2
> 02 +2H RN — J-iz{)r

Eo.H.0 =+ 1223V
1 3= F1 3ufeyf F TR o, Moo W A
), g T 7

(1) T FfE Ly, = —2.733V

@ R B = +0287 v

(% T, FE Fag = —0287V

4 # WiE By = 270V

54, mfﬁﬁﬁﬁﬁ?—m tirdfe s 8

7
A ( >
_,@ LM .

7
LN )

.-

& ‘K
) 2l

Code-R1

_aITﬂE,a’I .

Section - A (Chemistry]

51. ThelUPAC nameof an element with abomic nunbser

1149 is
(1}  ununoctium
[ (2} upunennium ]An swer

{3 unnilennium

(4) unununninm

52,  Theincorrect statement regarding cnzy mes is -

(1) Encymes arc very specific for a particular
reaction and subsirate,

(2}  Enzymes are biocatalysts.

() Like chemical catalysts enzymes reduce the
activation ercrgy of bio processes.

Enzymes are polysaccharides, ]An swer

((4)

53 Given below are half cell reactions ;

MnO; +8H " +5¢ — Mn?t+ 4 H,0,

M no; = ~LSIOV

E

1 + -
EGE +2H " +2e — H,0),

Fo,ino =+ 1223V

Will the permanganate ion, MnO,; liberate 00, from
waker in the presence of an acid ?

{1y No. because E j; = —-2.733V
(@
(3 No, because By = —0287V

Yes, becanse Ez'e]l =+ 0287V ]Answe r

(4)  Yes, because F[,, = +2.733V

34 Which compound amongst the following is nol an
aromatic compound 7

e
(2) Q

(3)

Answer

&
@ ?
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55.

56,

57.

58,

Trefafes § € frg i 9 Agdtam &1 9= =
A FA % FA MR F AFed F ealA
fafa s s T s www &7

AN N=N— T

O
NO,

K’L |

(2)
S
F

o L

N
NH,

(4) E |
"“\-\.“‘ |

TF T o 010 M Sifsem 15 st 0.01 M
UHifF HT, Wi F 50 mL Iufad ¥ FpHE :

[f&an 1 % : CH,COOH 91 pK, = 457 %]

() 257

() 557

(3} 357

4) 457

Terafifan & § wem e gfw

(1) o e T efifarm vewmm Avaas &

(2) & Hg WE % g afufsar gon IF
TEZTFIES o F |

3 KO, H KT o S + 4%

() T A e e i e e
F & T T

FHIECEA % HaH ¥ o FoH &

(1) Y frgo s qam el el w &

2 S%I%Hrﬂmﬁ TR 1 1 firgm

i
(3)  ATHRET B T ST TR AT w

Sy2 AT & W 3o famum o wiens
W e ¥
@ﬂ‘gﬁmﬁ—@%mﬂmﬁrﬁmmnﬁfﬁa
B B

Code-R1

55,

56.

57.

58.

_aITﬂE,a’I .

The Kjeldahl's method for the estimation of nitrogen
can be used to estimate the amount of nitrogen in
which one of the following compounds ?

W=N
(1)
NO,

@) "" |
S,
r

I |

N
NH

Answer

The pH of the solution containing 50 mL each of
(110 M sodium acetate and 001 M acetic acid is

[Given pK, of CH,COOH =4.57]

() 257

(@ 557 JAnswer
3 357
4 457

Identify the incorrect statement from the following

(1) Lithium s the strongest reducing agenl amony

the alkali metals,
(2)  Alkali metals react with water to form their
h}’d roxides. Answer
[{3} The oxidation number of K in KO, is +4. ]

{4)  lonisation enthalpy of alkali metals decreascs

from top to bottom in the group.

The incorrect statement regarding chirality is :

1)

A racemic mixture shows zero uptical

rotation,

(2} Sy1 reaction vields 1 : 1 mixture of bolh
enantiomers.

(3} The product obtained by Sy 2 reaction of

haloalkane having chirality at the reactive site
shows inversion of configuration.

Enantiomers are superimposable mirror
images on each other. Answer

‘
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mﬂm%m%mmwmmﬂ
FOT A FIFT L

AP > Bat = Nat
HEAI;
Y Hie & e o, fon
T I R T :

NaCl> Na 50, > Na,PO,
Wﬁﬂﬂ?ﬁ%%ﬁﬁﬁﬁﬁﬁﬁﬁﬁ?
Ao 3Em 59 o -

17T o ol #i e

(1) =T T 2, T w1
2)  wuI T HET 0 SE W E

(3) HEAL TR 11 TH wE T
(4)  FETTEE T, gm0 T

Eleed % AR 99 F frow fim feafafes § 9
FH-71 TR THE udl T &7 e p =Ty
Togm =1 F& =19 -

M) pi=x,p,, & x,= fagw & ioff f

FHA-F
= 7[5 AR H i g
EdAC
) P-Pytbatps
) pem Rl p KL
(3] F (v 277 3y

4 p=xp TE p, = i= e 1 AT T
¥, =TT Tagu & ;5 iy
HAM &

TFA & oI F -] = AR

(1) 9 SR et W gE W e o wewa

(2) RS IEAH H AT SEE Uh-gEl F
EIREC DR Y o - Dl e BT

@) W T A I A

(4) T HIE A5TH] F1 OR-FR HHI TH 37 g
FF GIe N FE T T o wFA R

A= = e ey E

Tl

HUZ 16 T F TEgEel & s frefela |

T

H-O <5 < 115 < H,yTe,
T
ﬁm#ﬁmmwﬁqﬁ;%mw
T
R o T R i S fan T i F A

W S T g

(1) HIT LT T & TR L
(2) U1 SN HYT 1L EE T E)

(3)  HEATIHARHLTI A 1 T8 £
(1) HATITE & WY U T R

61,

62,

_zlq#la,ﬂ’l .

Given betow are bwo statements :
Statement I'; . '
In the coagulation of a negative sol, the flocou i,atlng
power af the Ell.rer.-: given iuns is in the order -
ARt > Balt > Nat
Statement IT:
In the coagulalion of a positive sol, the flocculating
power of the theee given salts is in the order -
NaCl > Nags(), > Na,PO),
In the light of the above stalements, choose the most
appropriate answer from the options given below
(1}  Statement I is incorrect bul Statement 1T is
comrect.
{2}  Doth Statement Tand Statement 18 are correct.
(3}  Both Statement I and Statement I are

incorrecl.
{#)  Statement I is correct but Statement 11 is
incorrect. Answer

Which one is not correct mathematical equabion for
Dalton's Law of partial pressure 7 Here p=total
pressure of gaseous mixhure

L p=x p:.:' . where x,=mole fraction of i*h
iras in Faseous mixkure

Answer P: = pressure of fth gas
in pure state
= F=F TF:7F;
1 RT ET RT
{3} p_n]?-"“:_i.’ +“3T
{4} p;=xp, where p,=partial pressure of
jth 2as

¥;= mole fraction af h
Tas in Fasenus
I ture

{2 Elastomers have ]:lulj.. mer chaims hold iogcthcr
by weak inlermolecular forces.

(3 Fibers possess high tensile strength.

(4 Thermoplastic palymers are capable of
repratedly softening and hardening on
heating and cooling respectively.

Civen below are o statements :

Statement T:

‘The builing points of the following hydrides of group

16 clements increases in the order -

H.0 <H,5 <% < 11,Te.

Statement I1:

The boiling points of these hydrides increase with

increase in molatr mass.

In the light of the above statements, choose the most

appropriate answer [rom [he oplions given below :

(10 Statement I is incorrect but Statement 1T is
correct

(2] Both Statement T and Statement Il are correct
Both Statement T and Statement IT are

incorrect Answer

()  Statcment I is correct but Statement T 15
incorrect
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W Uferthfes 00T HNO, & @9 sifefwn
BT ST Sy wEm e E

HATI;

At TR 4 HNO, % e sfafEn
SEUSATTR Fav w61 § 5 300 K § st o
ST Torredt B E

FRR o0 T sl & gud A= fon T fawmed W
a3 s g

(1) IV e 81 &, g Hu 11 58 2

) wATI R g wE E

(3 w1 A FE 1A T

(4) AL HEE, T w1 T T 5
RMgX — (0, — TR IRy HO"
FEI W Afamm A y a7

{1 RCOO)LMg

{2y RCOO-"MgtX

3)  RCO~Mg*X

4) RCOO-XY

=iter &1 e T ¥ - = ua et (a) v
TEE 1 A (R) Fofsa e man &
ailﬁ-l'c!m:l[h}:

= fafere fag €M ¥, v et 30w e
Aitewd ¥ H Fw T R F @ W9 faem
T T

T (R):

T | Tt S afauem == 8 53 3% s
e & Fo T faem s a e

T fon T womi F Hed A 9 feg o famei 6
Wﬁﬂaﬂ%{ﬁu

» RCOOH

G (A) T T, W (R W E

66,
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{2y (A FR) ST ERR), (&) T = emE T

@ (A) 7 (R) IE T E v (R), (A) F T
=R TR K |

(4) (A)FE R, TH(R)FE T E

TR - L FTHH - 113 | e #ifa |

- 1 - 11
(FFsEs) ( Wehfd )
(@) Mgll iy oM g
) Gelly (i) SR T
(©  BH, (i)  ZoERA WG
() HEF (iv) ot
= feu T Tl % W G 3wT 90

(1r () - (i), (b) - {id}, () - (v, (d) - (1)

2y {a)-(iv], (b)- (i), () - (i), | d} fmj
i3~ f{a)- [m 1o (1) = (i), {c) - (id), (d) - (iv)
() {a)- (i) (b)- (i) {c} - (iv), (d} (1]

B4

a3,

aib.

_alqﬁ[i,ﬂ’l .

Civen below are two statoments :

Statement I:

Primary aliphatic amines react with HNO, to give

unstable diazonium salts.

Statement I1

Primary aromatic amines react with HN(, to form

diazonium salts which are stable even above 300 K,

In the light of the above statements, choose the most

appropriate answer from the options given below :

(1) Statement I is incorrect but Statement II is
correct.

{2} Both Statement Iand Statement 11 are commact.

{2}  Both Statement I and Statement IT arc
mcorroct.

4} Statement 1 is correct but Statement II is
[ ncorrect. AnsweJ
RMgX + COy —a¥ |,y _H©' | peoon
other
Whatis Y in the above reaction ?
i) RCOO My
(2 RCOO~"Mg~X JAnswer

@ RK.CO- MgtX
4y  RCOOD™XT

Given below are two stalements ; one iy labelled as

Assertion (A) and the ather is labelled as Reason

(R).

Assertion (A):

Tn a particular point defect, an ionic solid iy

electrically neutral, even il lew of ils cations are

missing from its unit cells.

Reason (R):

In an iomic solid, Frenkel defect arises due to

dislocation of cation from its lattice site to interstitial

site, maintaining overall electrical neulrality.

In thelight of the above statements, choose the most

appropriate answer from the options given below

(1) {A)is notcorrectbut (R) is correct

2)  Both {A) and (R) are correct and (R) is the
correct explanation of [A)

(3} Both{A)and [} are correct but (R} is not the
corvect cxplanation of (A) Answer

4y {A)iscorrect but (R) 1s not correct

hMatch List - T with List-T1.

List-1I List-11
{Hydrides} {Nature)
{ay  MgH, ()  Electron precise
 Gell, (1)  FElectron deficient
{c}  ByH, (iiiy Electronrich
{dy HF (iv] Ionic

Choose the correct answer from the options given
holow

(1) (- {ii), (b} - (i), {c] - (v}, {d] - (i}

(@ (a)-{wv),

(b)- (i), {c) - (if). (d) - (iii) JAnswer

b ap-im), (by- () {0} - (), () - {1v)
(@)= (i) (Y- (i) (- (), {ob) - (it}
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_zlq#la,ﬂ’l .

&7.  TE T R ﬁ'tr‘rrqi!‘ : g:rf g Wﬂ sthieRry= (A} | 67, Given below are two statements - one is labetled as

3 7\ = W (R) F w9 4 fafm o g
APTFHLT (A): ICL 1, F ifer fafsmameia £
TOT(R):  1-Cl 3T 11 5769 § gt o ¥
T 50 O e % Hew , A fau oy e g g
(1) (A) =& T8 T (R) T
(2~ gx] FR (R) 31wt & &fR (R), (A) T Het =meEn
- |
(3 (A) FR(R) ST EHG (R), (A) F =t =
T £

(@) (A)FEE T (R) TR T T
T - [T - 1% = fmre |

et -1 et - 11
(a)  Li () T SRR et
B Na (i) Toege e O
() KOH (iiy g e | sida=
dy Cs (wv) wEE-TaEg e
= fau T fomwdi | & Wl I g
() (a)-Gi), (v - {m} fc} (i} () - iv)
{2)  Aa)-(iv)e (b) - (i), <) - (idi}, () - (i)
(3) (&) - (L (b) - (iv L (c) - {ii], (d) - (i}
4/ (8] - (i), {b) - (i), ) - (i), () - (id}

HqEr-1 F F=o-11 5 Y =T -

T -1
( eyt ) ( 3fraer 3707 )
(a) W7 I i
by WA= {ip  ATHEE
©)  HEE (i) fedf=Em
@y  wiTgsTAfE fiv)  HEEA
= fe u fammedi § H wE I g

(11 ()= (i) (b) - (iddh () - (i) () - (i)

2y (a)-{in) (b= (i), i) - (0v), (d) - (i)

S B ()= (). (b - (iw) () - (i), (d) - (1)

()~ (i) () (i), {c) - (i), ) - {id)

ﬁﬂf@f@ﬁﬂﬁwwﬁml

(L) iy, S, TR T SAFT TF5HLF
E’HHE'IT‘IT% At da 2 4w At
T gHL % wHA Adl ¥

() B Ui o e HTE AW 40 e 9 T

(3) I OIS dd T R AR SRR 3
o Therl St 2t §1

(4)  Teredt oo B, T svemen | muit 9T Ad AT
Tt H qog Ea #

Assertion (A} and the othor 1s labelled as Reason
®).

Assertion (A} : 1Clis more reactive than L,.

Reason (R): I-Cl bond is weaker than I bond.

In the light of the above statements, choose the most
approprate answer from the options given below
{1} (A} is not correct but (R} is corroct,

[2} Both (A) and (R) arc correct and (R} is tha

correct explanation of (A). Answer

{3 Bolh (A} and (R) arccorrect bul (R} is nol the
correct explanation of (A).

{4) (A} iscorrect but {R)is not correct.

Match List = Twith List-T1.

List-1 List- 11
(a) Li {0 absorbent tor carbon dioxide
(M MNa {1} elechochemical colls

¢y  KOH {iti) coolantinfast breeder reactors
[ €5 (i) photoelectric cell

Choose the correct answer from the options given

bt -

(1) (a)- i (B)- (i), () -

(i}, {d}—{iv;ﬂAnswe r

(2} (a)-Giv) (b) - (1, () - Cud), () - (i)
ET} [ﬂ} - {ﬁl}a {b] = 1i1""}1 [L} - {]1}, [d} - f]}
4} (a)-{1), (b)- {iii), {c} - (iv}, (d) - (i)

Match List - 1 with List - 1L

List-T List-TI
(Deug, class) (Drug molecule)
{a)  Antacids (i) Salvarsan
fb}  Antihistamines iy Morphine
v} Analeesics () Cimetidine

{d] Antimicrobials ivl  Seldane
{hoose the correct answer from the options given
below

(1) fa)-(iv), {b)- (1), {) - (1), {d) - {3i)
(2) (@) (i), (b)- (i), (c] - iv). (d) (1)
(13) ()~ (i), () - (iv), (c) - (ii). (d) - (D] Answ er
@ (a9- () (D)= (1) ()= (), (d)= (i)

Tdentity the incorrect statement from the followings,

similar o each olher ; and 2 ll.2 and 4.2
ate similar to each other, Answer

[{l) The shapes of d , d .. and 4., orbilals anj

(%) All the five d orbitals are different in size
when compared to the respective 4 arbitals.

3 Allthe Ave 4d orbitals have shapes sivilar to
the respective 3d orbitals,

(11 Inanatom, all the five 3d orbitals are equal in
energy i free state,
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71

72

3.

71,

(1y  F R U= SH ok SEE o wH

IrEm e T E

2y # i e H fafeEm W A
(1) EspHEND 2 ¥ i T op? Wi g

Zl

Tt & © :F- %20 95 A8

(i OF 3w i f

@) 03.0.,07 w0} ¥ a7y w3 F
252, 15#AT1% |

@ C, #m & md - oanfeE e § SR
ToiEE I E |

@ H} e F U e e E |

T Wi [aeraq fad fast faem 3 0.5 3 S9iem
IEE

1y faems F 1000 g 79 F)
2. fammas % 500 ml. 20 2
Y3)/ foeTe % 500 g B E
() ToemTw F 00 mL AR E
T w T E
HmUTL:

TR T A5e) GHE F FRU TERW e
FEATHATA Tt AT T A T 2T i E

T
SR-ATEE TR, He- AR 3 fr- AR
T WA 08 & |1 e gl e |

T fEn weel o wes #, e Ty v fasedi O &
e 3had 3oL 140

(1y e | 9E E T e 11 T
2y w1 w1 A T

(3) A1 3N YA LS A R
() YT HE E, T e W 2

Code-R1

72,

73.

_alqﬁlt.a’l .

Choose the correct statement -

(1) Both diamond and graphite are used as dry
lubricants.

{2y  Diamond and graphite have two dimensional
network,

(3 Diamond is covalent and graphite is ionic.

[HII

Which amongst the following is incorrect statement ?

Dhamond is sp hybridised and graphite is
sp hybridized. Answer

[['l} O3 ion is diamagnetic. ]Answer
(2} The bond orders of O, 0., 05 and 0357
are 2.5, 2,71.53 el 1, respoctively.
(3 C; molecule has four electrons in ils bwo
degenerale w molecular orbitals.,
4} H: ion has one electron.

In one molal solution thatl condaing 0.5 maole of a
solute, therc is

{1y 1000 g of solvent,
{2) 500 mL of salvent

[{3] 500 & of solvent ] Answer
4 100 mL of sulvent

Ciiven below are two stalements :
StatementI:

The acidic strength of monasubstituted nitrophenol
is higher than phenol because of electron
withdrawing nitro group.

Statement 11:

e-nitraphenol, m-nitrophenol and p-nitrophenol wall
have same acidic strength as they have one nitro
group attached to the phenelic ring.

In the light of the above staternents, choose the most
appropriate answer from the options given below :

(1) Statement T is incorrect but Statement 11 is

correct.
{2)  Both Statement T and Statement Ware correct.
(3 Both Statement | and Statement 1L are

mcorroct.

Statement 1 is correct bul Statement 11 is
incorrect. Answer

DEHRADUN - 9690000899, BALAWALA (DEHRADUN)-8954303735, AGRA - 9837919228, KOTDWAR - 7251048466 Page # 18
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75,

76,

feferias 4 & FE-m p-v o sifiwan f m =79
F FWmME?

F

1) E :

(3}

#H P

v

TafafEa sfalmm ¥ o/ En 05 M HOl foems &
50 mL, 1 STHA F % fow 95% W CaCO, F

e zemm =t sEvaET o e

Callyp, + 2HCN, g — CaClyp, y + OOy 1+ 2H, 0,
[E¥merd g & g5 T 7% qiishie &

(1) 950g

2} 125¢

(3 132g

4} 365g

TS %1 WA F34  fog FreAterras §
F-HY I & 7

NH,
(1) O/ , FIC1, T8 &7 o

2y WM, Cl, FeiE FeCl,
(8} Wi, NaNO,, HCl, CuCl

P
() K:T HCl

Code-R1

5.

76,

77,

_zITﬂE,a’I .

Which ol the following p-V curve represents
maximum work done ?

Isuthermal

(1} _
I
WV
[ Tsothermal
@ F \\\\
3
W o

Answer

I=atherinal

v

What mass of 95% pure CaCO., will be required to
neutralise 50 ml. of 0.5 M [IC] solution according to
the f{}!lnwmg reaction 7

(

i I
I(.alrulalu Wptu :.::Sund Flace of decimal point] !
(1)  950¢
@) 1.25g
(% 132z JAnswer
)  365g

Which of the following is suitable to synthesize
chlorebonzone ?

o NH,

() |
Ny

Betwzene, Clo, anhydrous FeCl, ]A nswer
(31 Phenol, NaNOL, HCL CuCl

e
# J HCI
=

« HIC|, Heating
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78,

&0,

a1.

i 3 T e § A w0 o

T 3 - figeett A= S F

T o AR B-11 A9 Y e Tegeagiy sy
TAE

(@) T Em A wEgeE wwEm e 5 =T W
T F w2 E

TS _.:,ﬂ_.

2
1) BT A T sp? FHA T E
2
3

Hei-1 & Fe-11 % 19 THamy
-1 - 11

(W IEIg )} (e i i et
= Trer arfufiran )

(@) AEFREREIEA () NH,OH

) A (i) KN,

I okt (i} TR

(dy s (v} HOCN

= fem o Frered F & wé 3w g

{1y {ﬂ (i), () - (). () - (i), {d) - (1)

2y (&) - (i), (b)- (iv), () - (i), (ul) - {i}

(3 {a)- (i), (b - (i), (o) - (iv), (d) -

[y {a)-(ih (b)- (i), o) - (3i), (d)- [11}

208 K, Cut/Cu, Zol+ / Zn, Fe2+ Fe s Ag * /
Ag T W SO fONE W 034V, 076 V,
~04d vV AT 0B0 v F

T TS 999 & 2fHe W, 98 S HE = fs
TretafEs o 5 w9-1 e 72 = g 57
(1) 2CuSOylag) +2Aa(s) — 2Cu(s) + Ag-50,(aq)
(2  CuSO0slag)+ Znfs) — ZnS0jagq) + Culs)
(3 CuSOylaq) + Fe(s) — FeS0, (ag) + Cu(s)

(4 FeSOyaq)— Znls) —}2115{_]'4[¢1q] + Fe(s)

A T e fag M E

HAAL:

ifegems! A wEH ¥ foya-foge s=iratsmei &
FEEThEA 3 TR EA E

wUALL:

Rl Ueshigial @ gor o H-A9E = arqafofa &
FAW FH B B

Fmr 30 M0 Fuml F wed A, e fow Teen 6 4

{1} @Y 1 T8 A6 § g sad 1 HE
2)  HETI R I 3 T E
B A1 AR w112 wE T

(4) U AL E W A 11 WE T B
DEHRADUN - 9690000899, BALAWALA (DEHRADUN)-8954303735, AGRA - 9837919228, KOTDWAR - 7251048466 Page # 20
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51.
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W hich of the following skatement is notcorrect abouat
diborane ? Answer
[[’I} Both the Boron atoms are sp° hy hridi.'-;['.d.]

(23 Thereare two 3-centre-2-clectron bonds,

() Thefour terminal B-1T bonds are bwo contre
tweor eslesciTom bomds.

(4)  The four terminal Hydragen atoms and the
two Boron atoms lie in one plane.

Mlatch List - Twith List - I,

List-1 List - 11

(Products formed) {Reaction of carbonyl
campound with)

(a) Cyanohvdrin (i) WH.OH

M Acetal {iy RNII.

() Schiff's base {iiiy alcohol

(d)  Oxime {ivd HCN

Choose the correct answer from the options iven
below

(1) (a)-taw). (b) - (3ii), ()~ (), ()- (1)) Answer
(2 (- (i) (0B - (v), () - (), ()~ (3
(3) (@) (ii), (b)- {iii), {c) - (i), [}~ (i}
(4) (@)~ (i), (b) - (Lid), (c}- (i), id} - (iv}

AL298 K, the standard electrade polentials af Cul+ /
Cu, 202t/ Zn, e?+ /le and Agt/Ag are 1.34 ¥,
—0FaY, 041V and DB Y, respectively.

Un the basis of standard clectrode potential, predict
which of the following reaction can not occur ?

(1) 2CuSO(aq) +2Ag(s) — 2Cufs) + AgsS0,(aq) |

2y CuSOy(ay) + Znis) — 7nS0 (ag) + Culs) Answer
(3} CuS0y(aq)+ Fe(s) — FeS0 faq) + Culs)

{4y lesOfaq) +2nfs) — ZnS0, (ag) + Fals)

Given below are two statements :

Statement1:

The boiling points of aldehydes and ketopes are
higher than hydrocarbons of comparable malecular
masses because af weak molecular association in
aldehydes and kelones due lo dipele - dipole
interactions.

Statement Il :

The boiling points of aldehydes and kelones are
lower than the alcohols of similar molecular masses
chue to the absence of T-bonding,

In the light of the above slalements, choose the most
appropriate answer from the options given below

{11 Statement 1 is incorrect but Statement 11 is
correct Answer
[[2} Eoth Statement Tand Statement TT ﬂTL‘('I:]TTE!{ZL]
(3)  Both Statement | and Statement IT are
incorrect.
(4} Statcment T is corrcct but Statement 1L s
incorrect,
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82,

83.

85.

Tt &+ fare Tt g T TR e
feRtw HfehRdad 2 7

1) XeF,
() Iy
(3 TF5
(1) 5K,

HEH [Ag(H-O)][A(CNY,] F TUPAC A9 E

(1) SEUFEfGeEy() SEEEHETe()
(2) EREAAETEEE() SR 1)
(3} EETEETHESY) SEHMEAE S
(1) SRR TEEE()

IO EA

(1) 3= &l s

(2) B AFH

3) == fafs v

(4 == o e
FramT

X
YA o vem @i sl ¥ fayy oy s
HHYT: B

(1 I (=T ST ¢ = Tz, T Fifa [y = =0
x=t.)
(2) ¥R Ff (y—Higa 32— T, vaw =
(!,.f=t2-3ﬁ1'r=?3|'.|ﬂ'ﬁ'|}
(3) YA wMfe (y="aE" it x=T99), 799 =iz
{H_ﬂweﬂ(1=qﬁﬂﬂ
(1)

ﬁgﬂ#ﬂ%{fﬂﬁr{ﬁm,uwaﬁﬁrw =1,

HIEM - B { THIEAIITE )

TG He | #1078 51 5540 917 60 FT o1 1058 pm &
L2+ A = A & e wt e e 2

{1} 1587 A

(2] 1587 pm
(3] 15,87 pm
(4] 1.587 pm

Code-R1

B2.

83,

85.

56,

_aITﬂE,a’I .

Amongst the following which one will have
maximum “lone pair - lone pair’ electron repulsions ?

(1) XeF, JAnswer
2y CIF,
(3 TF;
4 Sk,
The IUFAC rame of the complex -
[Ag(HA ] [Ag{CN)] is: Answer

[{1 Vo diaquasilver(l) dicyanidoargenta l:e[]}]
(2)  dicyanidositver(ll) diaquaargentate(Il)
(3} diaquasibver(Tl) dicvanidearge rbate IT)
4) dicyamdosilver(l) diaquaargentate(l}

Gadolinium has a low value of third ionisation
enthalpy bocanse of

(1}  high basic characler

{2} small siee

{31 high exchange enthalpy ]An swer

{4} high electronegativity

The given graph is a reprosentation of kinetics of a

resaction.

Canstant terperature T
¥

The iy and v axes for zero and first order reactions,

respectively are

(1) zero order (y=rate and x=concentration),
firstorder (y=rateand x=t, )

(2] zero order (y=concentration and r=tme),
firstorder {y= t_and x=cancenlration)

(3] zero order (y=concentralion and 1 =time),
first ordecr (y=rate constant and
X = concentration)

(&Y zero ovder {y=rate and x = concentration),
tirstorder (y =t and x = concenration)

Answer
Section - B [Chemistry)

If radius of second Tohr orbil of the He ™~ ionis 105.8

pm, what is the radius of Qurd Bohr orbit of LiZt

ion ?

(1) 1587 A

(2 1587pm JAnswer
(31 15.57 pm
(4 1587 pm
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87 I8 A F emf T T AT 298 K frAfefe
Ni(s)+ 2 Ag™ (0.001 M) —» NiZ+ (0,001 M) = 2 Ag(s)

{ femr ™ % @ By, =105V, ZMORT _ o050 ,
298 K77 )
(1 105V
(2) 10385V
(3) 138V
(4) 09615V
88. - 1 F1HEl- 11 |y THer hifa .
-1 - 1
( 219 ) { ®EET)
(a) [laematite i)  TeyD,
by Magnctite (ii}  ZnCO,
()  Calamine (i) FeyO,
(d)  Kaolinite (iv) [AL{OI), Si,04]
= T T el H H W gat g -

(1) (a)- @), (b) - (i), {c} - (i), (I} - (v}
(2 (a)- (1), (b)- (i}, (c} - (iii), (d} - {iw}
(3 (a)- (i), (0 - (i), (<) - (i), () - {iv)
{4:' {a} = {].Il::lj (b} = {ijr [{-} = [iV}.r {dj = {ii}
89, Taefefin difes & 9e IUPACTH & +

(1) 6-AELL AR 2 FoR -4

) 1-AHR- TR -l

(3)  6-AML2- TR AR E- 3T

(0 1S 5 g3
90, o RN T NaOH &1 3ufzats # 2950 % 9y
T w1 1 e e & o fefaien § € -

WA IR ?
CI1,
CHa- H;y
() T '
T

CIT,

CH,
J‘\-‘-"‘\.
(_'H]Al'( CH,
e
cH, ©

L'f J’I\Ij
@ L. ,J\f ]

CH,

@ {_'H{'-/ \/JK‘/HK‘CI I

Code-R1

g al
= W &

87. Find the emf of the cell in which the following

reaction lakes place at 298 K

Nifs)+2 Ag* (0.001 M) — NiZ ™ (0.001 M) +2 Ag(s)

. 2

(Given that E =103V, % = 0.05% at

208 K)

(1) 105V

(2) 1038V

(3) 1385V

(@) 09615V JAnswer
88.  Match List-Twith List- IL.
List-T List-11
{Ores) (Compaosition)

(a)  Haematite iy FeO,

{b) Magnetite (i) ZnCO,

{©) Calamine (iti)  Feq0,

{d) Kaolinite ({iv) [Al(OH),Si;Ox)

Choese the correct answer from the options given

below :

) (2= (i) (b) -G, ) - i), () - (iv)

(2)  {a)-(i), (b} - (ii), {c) - {iii), (d) - {iv)

(@ (a)-(iii), (b) - (i), fc) - i), () - (iv) | Answer

(&) (a)- (i), (b) - (1), () - (1), (d) - ()
89, Thecomrect [UPAC name of the following compound

is

Cl OH
)\H\/\x By
(1)  6-bromo-4-methyl-2-chlorohexan-4-ol
()  1-broma-5-chloro-4-methylhexan-3-ol) Answer

3]  b-bromo-Ichloro-Fmethyhexan-4-ol

4 1-bromo-4-methyl-5-chlorchexan-3-ol
90. Which one of the following is not formed when

acetone reacts with 2-pentanone in the presence of
dilute NaOH followed by heating 7

CH,
/..zE A
1

CI;

(1) \l//
CH, ©
0 CH,
2) H\/J\
& Ho T o,
CH,
CH; H, Answer
3
0
Cl1,
cH, ©
4
@ ey = CH,
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91.

93

o5,
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i X, O, F W Al i 5% 9% Zn/Hy0
amwﬂfﬂmwmﬁsﬁnmﬁﬁam?ﬁﬁ?z-
firerari=e ey g1 AfiE v E .

(1) =2

(2)  awfeeEE-1Ea
(3 2-HfEER-1-E
(41 2-Hfue=ge o

ﬂsﬁwa?rﬁ:aﬁm‘mmﬁ—_}w#m;ﬁﬁ A
=AM 0.1 M E T 5 g2 F == 0.001 M8 9E )
min ~ 1T 3rfiFEm =5 ot fonE &

1y 02303
(21 13818
3 09212
) 0.4606

304(g) = 204(g)
mﬁrﬁ-ﬂmam 208K MK, 30x10" ¥
R Fm E 1 =fE O, wE A wEm .e40 M B, @M

# O, 1 ®ea 70
(I}  1.2x10%

(@ 438x10-%2
(31 1.9x107
(4 2.4x107

FET & AFAEE] M B T A & et &
o el 39 F g gig B IR 7

) =R 25

.J : L -
(d)  ETega AR
T o 7 Tawedl # € wad 3o s g
(1) EI‘_‘j‘?"'[ﬂll [}, (d)
(2)  FA (a), (d)

e (@), (k). (<)

@ H (b, i), (d)

el AfF s a9 I A 2

[ s ;
(i} LJ_AlHd, HED
(i1} T"C:JT\'D +HCl
{1ii) H. O "
ﬂ\"ﬂ:‘“
(1)

D

,.f“\
) Q \H,

S,

= |””\"‘“1TJ:.£EL:[51:l
(3}

o,

N
) |

.

Code-R1

92.

93,

95.

_zlq#[a,a’l .

Cﬂmpﬂ wod X on reaction with (3, followed by Zn/
H,O gives formaldehyde and 2-methy] propanal as
products, The compound X is

{1y  Dent-2-ene

() 3Methylbul-l-ene JAnswer
(15} —Nethylbut-1-ene

{4)  2-Methylbul-2-cne

For a first order reaction A — Products, inital
concentraton of A is 0.1 M, which becomes 0.001 M
after 5 minutes. Rate constant for the reacton in
min s

(1) 0.2303

(2} 1.3818

(3 09212

JAnswer

304(g) = 2 O4(g)

tor the above reaction at 298 K, K is found to be

3.0 1075, If the concentration of (), atequilibrium

is 0.040 M then concentration of 01, in M is

(m 1.2x104
(@ 438x10

(3 19x10- =

@) 24x 107

The pollution due to oxides of sulphur gets

enhanced due to the presence of :

(a)  parbiculate matter

JAnswer

() ozone
(c) hydracarbons
{dy  hydrogen peroxide
Choose the most appropriate answer from the
options given below :
() {a). (o), (dyonly
2y {a), (d)onlv
(3 (), (b) (d)only JAnswer
Wbl L (dyonly

The product formed from the following reaction
sequence is

i) LiAH,, H,O
{ii) NaNO, + HCI
fiii) 1 L,O o

OH
(1) Answer
(9]
ﬁ)‘\ 5
2 | NH,
S,
/f“"“‘\[/ﬁ““%c?
{3
®) e
N
@ |
S
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96.

97,

08,

100,

e SUE e ARt A H KMnO), STEERE
! AFITEE § a6 | 2 sl § frie

=1 ATt ateen H wfimws 2

(1} +6H +5%

7y +79 +44

(3) +6H +4H

# +7" +3%

AL

FHT T H, Y AIWEHE & w9 H T
HCL— ZnCL, % W4 34 siafmamiem F 3T @

muftes, fadtaF R o Temee § wat
ElLIE]

HAALL:

WA UeiE e Tas A A #w § o
o T AT % OF %R S ard T AR g

T e T = E

F fam T o 3w o, e faw o fasredi 6 9
a3 T g

(1) HITIFE T2 2, Wl R T ¥
2y  WwETLFTHEA N A T E

(3) FERIRFEE NI TR =

(4) TR HE , vig e 1w R R
Skl

(A) [Ni{Hzn:lz':'i"nhlh:

(B [Ni(HO)y(en)]2 "8I

(C)  [Nifenp)*+

% in % T awEr s sl e g
(1) (B)>(a)>(C)

@ (A=(E)=(C)

(3} (O (B> (A)

4 (Cr>(A) = (B

U5 10.0 L I § 27+C W Sa e w64 g B 1 (AH
ot o O, 428 =0mer w34 8) 1 AW (bar) H
L= e A

(femm 71 & : R=0.0831 L bar K1 mol~1)

(1) 49
(2) 25
(3] 4986
4) 498

FIR Tl Hiwd T (foc) TEF W | i wm
% FHaT I w8 3.608 X 108 om & | I & 09
892 g cm™ 3 ¥ FITL H TAM] AR THEEET
HiFAT

{1} 65u
@ &lu
(3)  3155u
@  &0u

Code-R1

97,

08,

qqi

100,

_zlq#[a,a’l .

In the neutral or faintly alkaline medium, KMn(,
mxidises ivdide into iodate. The change in oxidation
state of manganese in this reaction is from

(1) +hto+3

() +7to+4 JAnswer
(3 +oto+4
(4)  +7+3

Liven below are two statements

Statement [ :

In Lucas lest, primary, secondary and lerliary
alcohols are distinguished on the basis of thei
reactivity with conc, HCl+ ZnCl,, known as Lucas
Reagent.

Statement I1:

Primary alcchals are most reactive and immediately
produce turbidity at room temperature an reaction
with Lucas Reagent,

In the light of the above statements, choose the most
appropriate answer from the options given below

(1) Statement I is incorrect but Statement 11 is
correct. ’
(2) Both Statement 1 and Statement IT are correct.
(3}  Both Statement 1 and Statement 1l are
meorrect,
(4 Statement I is correct bul Stalement 1T is
[ incorrect, Answ e'r]

The arder of enerpy absorbed which is responsible
tor the calor of compleses

(A} [NI(HO)pen)[**
B [Ni(lLO)fen]?t  and
(C)  [Nifen),]**
is
(1) (B)=(A)=(C)
2} (AR (E=C)
(3 ()= {B)> (&)
(@) (C)>(A}>(B) JAnswer

A 100 L flask contains 64 g of oxygen at 27°C.
{Assume (), gasis behaving ideally). The pressure
inside the flask in bar is

(Given B=0.0831 LbarK "mol "

(1) 49 JAnswer
2y 23

(3) 4986

4) 498

Copper cryslallises in foc unit cell with cell edge
length of 3,608 % 10 =% cmy, The densily of copper is
8.92 ¢ e~ 7, Caleulate the alomic mass of copper.

(1] é5u

) 631u JAnswer
(3 31

(4]  60u
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U - A (Hafagm  sFwfafagm) Section - A (Blology : Botany)
101. frefafaa & & £ 1% = v g Sy @ g2 | 101, Which of the following is not a method of ex situ
(1) o wfiwam conservabon 7
@) TR (1}  Cryopreservation
) T [ (2} Irwibeo fortilization ]
: r 3 MNatiomal Parks Answer
4 BELE] (
(4 HF3 . (@ Microprapagation
102. freaferfam & @ #:1 o Fam e g duen a3+ s
¥ faag q'ﬂ'&Tﬁ% 3 102, Which one of the following statement is not true
(1) S, ¥ e i e e i regarding gel clectrophoresis technique ?
@ b st ga i | () e DN
E IR o
) _ _ ()  The process of cxtraction of separated DNA
@) A7 R S W ¥ e strands from gelis called elation.
Tl Wil I &1 Fel A & | (3} Theseparated DNA fragments are stamedb}
(3)  99% frd T dluty, & w2 9 ufafean nzing ethidium bromide,
;!
AHEZ B 2rfifem fam s 2 (4)  The presence of chromogenic substrate gives
(4) AR fHAYR #i Iutety @ S § S blue coloured DNA bands on the gel. Answer
EFEQTLQF{.H. A fomr & &) 103.  Which onc of the following slatements cannot be
103, frfefias & | %5 | wom = gofe | 76 S connected to Predation ?
M gFA1 ? (1) Itis necessitated by nature to maintain the
(1) iRty daeE w5 Egs TG Ty eealogical belanice
BT ST T R (2) TIthelps i1:_1 maintaining species diversity ina
o : i i community
2) g;:‘g_ 1= P T e (3)  ltmightlead to extinction of a species
' (4}  Both the inleracting species are neyrativel
(3)  TE8 TE i T B e impacted 8 e repa Ve
(4) T T A S e W T SISREl
¥ 104.  Which of the following is incorrectly matched ?
. (1)  Voleor - Starch
EOL. , e lﬂﬁﬂ%mw et 2 (2} Ectocirpus - Fucosanthin
}2; AT '_ . ((3) Wlgtlrix - Mannilol Answer )
{_3} TFIHITH qﬂmu el (4)  Pwrpliyra - Floridian Starch
Y G Ei B Tar
(4)  IEET- T T 105. Which one of the following plants does not show
105. fefafas & & S geem vai 78 plasticity 7
(y () Maize Answer )
3 e i3y Coriander
) s 4)  Buttercup
106. XO TR F & faaimn fros s s & 2 106, X0 typeof sex determination can be found in:
{1] q=T [1) Munkt‘}'s
(2) ;’?ﬂ?ﬁﬁ? {2y Drosophila
® i ) birds
@ frg (9)  Crasshappers Answer )
107. FafAfEmd g aw s mes=mEaSam ﬁ?ﬁ Hag & | 107, The device which can remove particulate matter
forartas § 3ufer sy Tt 21 B ge %7 present in the exhaust from a thermal power plant
1) I e i
EE?I T AL (1) Catalytic Comvertor
X i ) STP
{;:' a% (3)  Incinerator
&) = [{4} Llectrostalic Precipitator Answer ]
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Frafafes & 4w T % 2 T 9 108. Identify the correct setof statements :
(a) FEETaiR SrElfergr T Heen wEn &6 {a)  The leaflets are modified into pointed hard
© F Y ofEfdg e F thorns in Citrus and Bougainvillea
() @ R F T wie wfEwe, uwen wite {(b)  Axillary buds form slender and spirally coiled
e vam =1 b aw # tendrils in cucumber and pumpkin
T T AT 3 e S & s et {c)  Stem is flattened and fleshy in Opuntiz and
1 % 1 % T SR | o n‘::di.ﬁed to perform the function of leaves
o) b 5% (% Fhizophora shows vertically upward growing
- 3 ;t?g_m rﬁjqﬁﬁ TS %;:T roots that help to get oxygen for respiration
il . HERT N {8}  Subaerially growing stems in grasses and
= #ﬂﬁ o yged T il T strawberry help in vegetative propagation
SEIREL Choose the correct answer from the options given
P fomed 4 4w 3w 9fm below
(M F (@), (o), () ¥ () (1) (a),(b), (d)and (c) Only
(2). I (b) 2R (o) () (b)and (¢} Only
(3) % (a) 3f () (3)  (a)and (d)Only
{4} WA (bY, (c], (d) T () (® (). (), (dyand (e) Only Answer )
@ T 1 Wl ] VITHfa o7 & <1 #vjsi # | 109, Whatis the net gain of ATP when each molecule of
TFEfT B T AT e A T e Y glucose is converted tn two molecules of pyruvic
2 = (1)  Light
@ = (2] Four
) 3 &3] Dix
. #) Two Answer
e o7 ffro % nm oEm @ frad = [ - )
T Bl 27 110. What amount of energy is released from glucose
Wy TeEwE during lactic acid fermentation 7
o . 15k ((1)  Less than 7% Answer )
fé} 18% ¥ ST (2}  Approximately 15%
_ _ (3)  More than 18%
@) T 10% .
_ (4) Aboutl0%
=i & A fee e ¥ - o Frwsramers wuw (4) 3R | 111, Given below are two statements : one is labelled as
. THU HAUT (R)E Assertion (A) and the other is labelled as Reason
frreraTes weT (A): (R).

@

T e sAfafwm = 2LmAn v ¥ fie
T o wm

HOI(R) ;

e wiale T R SR Y W R
T W TerEet A % T H W T W
Suda F w9 T e § 9wl
I G ;

(1) (A) Tl &, o (R) wE ¥

() (A)SR(R) T W ¥ TR (R), (A) & For Tt
T # |
(A) 3 (R) 24T W& ¥ o (R), (A) 77 TR
=T T R

(A) W91 €, TG (R) TR A 8

Assertion (A):
Pelymerase chain reaction is used in DNA
amplification
Reason (R}:
The ampicillin resistant gene is used as a selectable
market to check transformation
In the light of the above statements, choose the correct
answer from the options given below :

{A) is not correct but (R) is correct

(1)
(Z)  Both (A} and (R} are correct and {R) is the
correctexplanation of (A) Answer
{3}  Both (A)and (R) are correct but (R) is not the
correct explanation of (A)
(A) is correct but (R) is not correct

()
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112, TF TH 99§ o o™ =1 sfaan v w91
aqar 21 & SR EE & s o wfeindt S ® ) aw

foFm FEW H B R 7
(a) feclas IOTaas & WG R A &
HIHITITH H 3k Uahd B & ST
) e A 3 R s e
T W T THA T 5w
(@) T ol T H AR i giun el &
TFA TH T
(dy T F WES WA F &, T, TE o g
et % U §H o R
fe)  ON-RIEHI il A, FaieTeh &9 H BT Wgey
e SR I=Eie del w1 Fafeafa F wr
T i T e | | wd e ai
(1) e (b) T (d)
) A (a) 3 (b)
@) FEE () 3R(d)
(&) A (d) 3 (e)
113. 1097, FEEAT HEH AHRE G E 7
() wEm
(@) st dfr (wfafe)
@ ST S
(4) el widteE i €., AT S
114, Toeefias & & qamo = forgg o T/ e TR ;
(1) wE E v S foafaal el sfus wom
HEE
@) o IRl H W & SR T wga € gE e €
(3) STt T F SR E T A
@) T fe, afre o) o it o e
% o g FEEEn 7Y 3w R
115. ¥19 % 981 | ©iY 3 Iee =8 T 9w 21 Frefafea
T fFm TEy grAH ) TgE A 5 TR E=EY
9% TG T ¢, T T8 T TEN § HE I,
T T F A e E
1) AR
2} ABA
{3}
(4)  fefe
116, Trafafes ¥ & fd 99 Twemaemfia 2 32
(a) W
) TR
¢y i
d) =T
=
%ﬁ;ﬁﬁﬂﬁﬂﬁﬁnﬁmﬁﬁqr
(M & (0) () ¥R (@) -
() %A (), (o) R (c)
(3) A (b) A ()
) HE (d) 2 (e)

Code-R1

2.l
fl%@ﬁrrrﬁ

112. [n old trees the greater part of secondary xylem is
dark brown and resistant to insect attack due to:
(@) secretion of secondary metabolities and their

deposition in the lumen of vessels.

()  deposition of organic compounds like tanmins
and resins in the central layers of stem.

{¢y deposition of suberin and aromatic
substances in the outer layer of stem.

(d} deposition of tannins, gum, resin and
aromatic substances in the peripheral layers
of stem.

(&)  presence of parenchyma cells, functionally
active xylem elements and essential oils.

Choose the correct answer from the options given

below !

(1) (b)and (d)Only

({2) (a)and (b) Only Answer

@ (9)and (d)Only

{4y {d)and () Only

113. DNA polymorphism forms the basis of :

{1) Translation

(Z) Genetic mapping

{3} DNA finger printing

{4) Both genetic mapping and DNA hnger

[ printing Answer

114.  Tdentify the incorrect statement related to Pollination :

[{1} Moths and butterflies are the most dominant

pollinating agents among msects  Answer

(7] Pollination by water is quite rare in flowening
plants

(3}  Pollination by wind is more commaon amongst
abictic pollination _
(1)  Flowers produce foul odours to attract flies

and beetles to get pollinated

115. Production of Cucumber has increased manifold in
recent years. Application of which of the following
phytohormones has resulted in this increased yield
as the hormone is known to produce female flowers
in the plants :

(1) Cytokinin
2) ABA
(3)  Gibbercllin
( (4 Ethylene Answer )
116. The flowers are Zygomorphicin :
{a}  Mustard
(t)  CGulmohar
ic)  Cassia
(d)  Daturg
&  Chilly
Choose the correct answer from the options given
below
(1) (). {d) (e) Only
(2} (a), (b), (c) Only
(3  (b){()Only Answer )
{4)  (d)(e}Unly
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117. MEfafEs | | 19 o v, 9t Fifvew faysm & | 117, Which one of the following never occurs during
A F T et ? mitobic cell division ?
(1) wREE FrEHET R T {1} Coiling and condensation of the chromatids
i (2}  Spindle fibres attach to kinetochores of
(2) ﬂé?ﬂ@-:ﬁT T [ sherRT 1= chromosomes
(3 o el T PEEal i (3)  Movement of céntrioles towards opposite
(4) S O poles
Eﬂ-]l Paiting of homologous chromosomes  Answer ]
8. A= ERREEE 118. Givenbelow are twao statements ;
YT Statement 1:
Eﬂ'—'ﬂﬂ TR T u‘&a ﬁ{{ﬁ'ﬂﬁ ﬁ %’ | Cleistogamous flowers are invariably autogamous
HYAII StatementIl:
T T T AR 9ET S T Cleistogamy 15 r.hsald.valntagen_us as there is no
] - chance for cross pollination
I ST AEHT T2 e | .
. o . In the light of the above statements, choose the correct
Tﬂ'ﬂﬂﬂ T o o, Frafafeay e d g et answer from the options given below :
ECLAC LIS (1) Statement Iis incorrect but Statement 11 is
(1) HITITEW &, ey 11 O3t &) correct
2 . 2 E: :
2w s T = E (2)  BothStatementIand Statement L1 are correct
o {(3)  Hoth Statement I and Statement IT are
(3) wETANHEE T A E incorrect Answer
(4) HUTIHHE AT mE TR £ (4}  Statement I is correct but Statement II is
incorrect
119, . SN Al A 1 ﬂf’ e, el SRR < 119. Habitat | d fragmentation, o loitati
_ 3 3 N i NS ar en 1001, Over Cxploliaton,
PR ST Sefora fred fer e ¥ alien species invasion and co-extinction are causes
(1) =HE for:
(2) e feeRE _ (1} Natality
2 ion explosi
(3 wiFer IE‘;; iupulahr::.ln explosion
. ) I ‘ompetilion
) T St [ {4)  Biodiversity loss Answer ]
120, A E wEE R T E 120, Given below are two statemenls -
T : Statement I :
O T U Wi ¥ o e i g e EE‘:“_“;F j*fit';:" bt . ”_“E*"t': w"j;h e d“gf“s i
T Tl St T % egracted into simpler substances by microbes,
Statement IT:
HATUL: Decomposition is faster if the detritus is rich in lignin
TfE 31te 7 Tl it el 1w & 7 arumes and chitin
iERIGE G S In the light of the above statements, choose the correct
. e . answer from the options given below
TOUF Tl o wod H, = e mh fremed ) S .
(1) Statement I is incorrect but Statement 1T is
I g LT
y correct
(1) HET1TeW & g e I T8 ¥ {2)  Both Statement I and Statement I1 are correct
2) wEEI AT E {(3)  Both Statement I and Stalement II are
o "
3) =R IAEmEA TR E Tworree _
{4 Statement I is correct but Statement II is
(4) YT IHE § I R 1 e £ incorrect Answer
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3
T
1:
‘J}Lﬁﬁw: ) .
1 T% yuieAEE
=T = CO
C - ﬁf;ﬁi}ﬂ R ITAI e
T o i 12
&Rl Eh°l b=y o . 1. Gi
_ MW 1 e 3 2 Al sw'?"bi‘l ~ 2
N R o tement qﬂﬁ;r
E -;c,';_l _ i3 Th:m‘?ﬁt I.M two sta
@ ; -0 T mesophyll o co '
) 17TeTd el 5 phyl olp z ac
A [ o Sla yllce ¥ru e
A te ] v pt
{3} Iaﬂ; w=EE 'ﬁ L W mel 5. ate or 1
{4 e ) 1 kil l:lﬁ ?'Sﬂph LI > and 1 o (.4
. mlﬁqﬁ T 2T W E Intheli yll cells 5 fou plants i
N 17 Wllﬁﬂﬁc{ | anﬁwhghtofmeﬂfc nd in -t is
CF Te K Tﬁﬁ% I (1) Cfs trom th ﬂhu:fhnts o he
= U L FE 7 % ta ¢ ophi state 1
(a . A e 1L Terd Ny ((2 ':Dr::cm"-'ﬂt ptions i uBisCo
} aﬁﬁﬁh ¥| ( :| L lis i FIven ”:J-‘Im onz
> A 3R TR Buo i bel se il yre
o Tt s W o s kbt 5t o
) Er . e : oth 5 ot ut Sta
:E_[&\ﬂthﬂm . = (4 LIEAY tate Iand temn
i N ailalﬁa'—[ﬁ §maﬁﬁﬁq =T 4) St Trect ment 1 Statem ent 1T is
d ol 3§ o e g Statem ] entTl
) fi 05 i ﬁm~" 122. Re inco ent I i Sta are
ferue S - R rrec is te COFTC
3 S & t C m re
£ ¥ ARfm Tl ﬁﬂﬂﬂﬁl ad th orre ent ot A
(&) ! P =l F 1 correct e followi ct but 5 I are nsweﬂ
- b S o b wing tate
Lik| 400 ,:Hﬁm =fFEEEm gk { (b F‘“ch'm”“ts FEEIAnE e I 1
p 1] et -q-m [ H T 'l & al 1
“' i ﬁz—:j | ¥ 2 N ] S dchoose
)| %ﬁﬁﬂ' . ﬁ étm Histone womalin 05,91? pa the set
) B . _ , - .
(2) 3 (a); (c L T, Bie (d) harged oclom 1%5 Lran _"Feqq of
C y#R THT His By er CTy 1T
@ ® < * (e inciing Y omat
W :I"'{:l.l:] aﬂ({ﬂ] \ } A 1E% a m11u~ir‘1ppe onally fn
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F=AT (&) L corre o cn argini
@ = % favd :1} {a) ct answ TR 431“0
1 # frefefia 2 A€ er fro 0k
ﬁﬁﬁlﬁ - (b (£} On m tl p of
6 Kkl o e 'y  opto
€ hES il % i “ 2.0, @ o ns give
) @ w= HaET T HEey fen 123 (). , (d) Onl it
'\q“"'?'f\ EEL| w1 i : - Be ) () Ont Y
(d) #ﬁﬁﬁ i ﬁ;mi::ﬁmw buifil the fol ’
[ECIEkE] ﬁlﬂm TEF'TL i jg‘I (2} o aging st
mﬁ e | STEeTH G ' In o alemen Answ
(&) * sty [ b e is er ]
qm—mﬁm‘é'ﬂ e L Sl abo
) e Zl T W o - (b} ﬂjﬂngz_lam_ a::" and ul thss v
lialiclics o E ¥ g morfeas Conjoi i phlocm & Béuler
4 . 9 p joint cront man in
@ mjﬂ 9 9 © 11055““5.: closed Fagi. Aot o
(2 il H 4w A Hopen Abin vasc abe o iy
(3] m ﬁ]; [’L}’ {d] E'TH mﬁﬁu‘ E|FEL] {d) mw:amlla:mb ular bund anner
) P (), (b) d:ﬁ( © : The "-"aSCEhx}'lemmﬁdles les do
1) %r‘a‘ﬁl:b]’ @ {d) i iﬂsgeﬁs ._unlarbun im Pﬂfﬂmhium not
: 3, . " _
{a), [b () 1 i ) n_: MO darch = of i e IS prese
), () ‘E:' e astylied orotylonr "
(d) below e the CDE" 51¥ ):_-:En“u-“ r:: ;m omous she
{1} . rrect a o b ot, us shem
n um 51
{2} {a). (¢ swer f dles F i l}r th
3 {d rom TS T A
{3 (a) b and the it re
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124, =9 SHITAFD AT 50 AT WA (@i 5,
(1) T S e
(2} A T wafoeree g
(3) TR ATTEA g R
@) = T Em w5 e e

ﬁmﬁf@aﬁﬁﬁﬂmuﬁ:mm%ﬁmﬁm

125.
(TETAfF ) % g wA o, weewm ¥ dhe
el Fefed 39 F famn F w27 =
it §2
(b Toeft % =2 =1 a0% NADP %1 NADPIL 3

ITH
2y WER yETE = e
(3) oA TEWAr = fge
(4y  Toeed & IR = # Weh o wEe

126, TH A FA TR T
HYAT: .
HEe J HE 9 F fawia s & w9\ e e |
STETEA TR AT St % fm )yt
YA 1L
I T W i # e | wE a5
AR AR, T =1 T, el F SR s i g
1 Tearfy v 7 %1 Trerd 1 e fim
T F o Hey F, AN fol v fawedi § f wdt
mqﬁ‘n‘

(1)  =Hu 17 § g w3
(2} R siRmEA I e E
(3) w1 R I S Ea E
) HE LHE ¥ R e 1 e B
127, G- 1T - 1 3 e e st |
-1 HqEt-11
(a)  Hee (i} s vEEE F Al
A
by HEEEA () W F Hew F fau
e &
© A (iif) ¥EEA T AT A
FAE
(d = {iv) WY Heemm % U 5w
% g F e w
et fowedi & o vl <97 50

(1) ta)-(idd), (b) - (i), (<) - (i), (d) - (iv)
(2 (a) (i), (b)- (iv), (<) - (i), (d) - (i)
(3} (a)-(iv), {b) - (i), (c) - (i), () - (i
@ (a)-(iv), () - (i), (c) - (i), (d) - (i)

Code-R1

124.

125.

126,

127,

_aITﬂi,ﬂ’l .

“Girdling Experiment” was performed by Plant
Physiologists to identify the plant tissue through
which :
(1)  osmasis is observed
(2)  wateris transporbed

((3) foodis transported Answer ]
(4)  for both water and food transportation

Which one of the following is not true regarding the
release of energy during ATP synthesis through
chemiosmosis ? Tt involves
(1) Reduction of NADP to NADPH, on the
stroma side of the membrane
(12)  Breakdownof proton gradient
()  Breakdown of electron pradient

4

Answer

Movement of protons across the membrane
to the slroma

Given below are bwo statemerts :

Statement I:

Mendel shudied seven pairs of contrasting traits in
pea plants and proposed the Laws of Inheritance
StatementI1:

Seven characters examined by Mendel in his
experiment o1 pea plants were seed shape and
colour, flower colour, pod shape and colour, flower
position and stem height

In the light of the above statements, choose the correct
answer from the options given below :

(1)  Statement I is incorrect but Statement II is
correck
[{2} Both Statement I and Statement 11 are ;_—mt]Answer
(3} Both Statement 1 and Statement II are
mcorrech
(4)  Statement 1 is correct but Statement IT is
incorrect

Match List - I with Tist-11,

List-1 List-1I

(a) Manganese (i)  Aclivates theenzyme
calalase

(b) Magnesium (i) Kequired for pollen
germination

{t} Boron (iii) Activates enzymes of
rospiration

{d} Iron (v} Functions in splitting of
water during
photosynthesis

Chaose the correct answer from the options given
below

() (@)~ (i), (b) - (i), (e} - i, () - iv)
@ (@) (i), ()~ (i), () - (). (d)- (i)
@ @), (B (), (- () (- 3)
@ (@) Gv), (6)- (D), (o)~ Gi), (hy - i)

] Answer
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128,

129,

130,

131.

132,

133.

He Al oo 0 HEeE RS T AT
T =1 = o afueismm s 82
(1y  SidrHEs
() ToERmS (TedY) Feme
(3 g
Af  H e s S fat e
frfafas § 9 |9 T TiEEE 19 F SA @
T A R Y
(1) UHEEZ T4 § 37 9 99 dged § T =
(2) WG T T, ST = ST
fageft g & &
(3)  FHHEEA T R e & T S T
(9 THHIeA | FIf=Eed Y gerer w g
gRNﬁﬁﬁéﬁﬁWﬂ%mmwﬁmﬁ
7
(1) FE RN A A B ¥ ot wedem 2
FHE mRNA F FH9 A0 £
@ S E1 AR F 91 gy, mRNA % THT
A 8
(3) ﬁﬁ@@uaﬂﬁm&ﬁamwa%ﬂﬁq
g
() mRNAF T F fom 5 & 2 werfe
frafarma ¥ 9 &1, g ﬁa@ﬁﬁ_qr{;m
TSR T o T g 7
(1) slaiHfaEar
(2)  UEEiETH
() HEw
(4) VETEREw
M E
(1) = o feErers EeaTanl S T =17 5 fqn
(2) A TR = wee F fom
(3) w2t #t gfg @R qenmt & o F s E e
= o famd fa wrayivw gag & 9fg &
(4)  virde wrfem 3 fae § e & T
TRSIFIEES ST faes wra fa s % 2
(1) = (e
(2)  SeArrEEdl e e
3) T T e
(1) e G

Code-R1

128,

129,

[ (4

130,

[ {2)

_zlq#[a,ﬂ’l .

The appearance of recombinalion nodules on
homolegous chromosomes during meiosis
characterizes

(1}  Torminalization
(2) Synaptonemal complex
(3} Bivalent .
((4)  Sites at which crossing over occurs) Answer

Which of the following is not obscrved during
apoplastic pathway ?

(1) Apoplastis continuous and does not provide
any barricr to water movemaent.

(2) Movement of water occurs through
intercellular spaces and wall of the cells.

(3)  The movement does not involve crossing of

cell membrane

The movement is aided by cytoplasmic
streaming Answer

The process of translation of mENA to proleins
begins as soon as :

{1} ThetRNA is activabed and the larger subunit
of ribosome encounters mENA

The small subunit of ribosome enu]unter:j

mRNA Answer
(3)  The larger subunit of ribosome encounters
mENA
{#)  Both the subunits join together to bind with
mRMNA
131. Which one of the following produces nitrogen fixing
nodules on the roots of Alnus ?
(1}  Beijermickia
(2}  Rbuzobium
(3  Frankia ) Answer
(&)  Rhodospirillum
132, Thegaseous plantgrowth regulator is used in plants
Lis
(1) kill dicotyledonous weeds in the ticlds
{2y  speed up the malting process
[ (3  promote root growth and roothair form aﬂnrﬂ
to increase the absorptionsurface  Answer
{4)  help overcome apical dominance
133. Ilydrocolloid carrageen is obtained from:
(1) Phaecphyceae only
(2)  Chlorophyceae and Phaeophyceae
{3  Phaeophyceae and Bhodophyceae
({4 Rhedophyceae only ] Answer
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134. 3MwidE H FeSwm s e am s ? 134. Exoskeleton of arthropods is composed of :
{1 W 1y Glucosamine
@ FeE 2) Cutin
(3) HEgE 3) Cellulose
(4 W (/) Chitin ) Answer

135, Tefofaa 5 9 %F 9 9ey | aestenl! Uo7 a9 | 135, Which one of the following plants shows vexillary
i fodd g BR € 7 aestivation and diadelphous stamens ? )
(1) G TR (1) Solanwm nigrim
(2)  FeEIFH g (2)  Colchicim autunniale
(3) WEEH YrgEn [ 3 Prsumsativum J Answer
4y TeTEE O (4)  Allium cepa

UM - B (FArafae « amfatasm )

136, Tooelt § a4 & w90 9% Fi oW ¥ g, |
TiRErda = fe T e Hed # Tetfata §
B W FUA A 7
() == Tt Tg 79 foemee 12 w1 =
() =HEAs, dem a9 wftw s @
A F

(3 ¥\ EdT * Y9 W FW w14 ¥ fAw S
e $9 W BLOAE. w6 E S9gn e
T

(1) 9% Eew o e

137. C, W ¥ Teen dee % AR 25 ol S et a2
HEe =B F TN FH 27
(1)  Hoed T+ ] 3= TR digal § g2
(2y W TEET U4 % T H e
3y W= =% % "Eem ¥ fou s ®5t

T T AgE
(4) T F I AUEE = W = wfE a

138. THfUg  famn o Frafafan wu=i = ufed of wf
weAl & U2 gl ;

(a) TR H U S amen oty
RIS & |

(by  Egw e sl | v A1 S o= c T B
#l

()  TSi=i U9 1 e w9 ¥ A a8 Wil o
&t S 1 T E

(dy ol wm: =@ ¥ srgerie O ¥ v g
e e # seriel 5 ¥ |

(o) T THI 31 i Treraafer # wmy fam
=T % T AEifeEiE T

frefertem fawedl & & ol o gfo

() & (a), (b) A (d)

() A (a), (b) F ()

@) S (a), (d) 3 (o)

# FEE (o) (d) M fe)

Section - B [Biology : Botany|

136. The entire fleet of buses in Delhi were convorted to
CNG from diesel. In reference to this, which one of
the following statements is false ?

{1}  Itcannolbeadulterated like diesel
(2)  CNGbumns more efficiently than diesel
[{3) The same diesel engine is used in CNG buses]
making the cost of conversionlow  Answer
{(4)  Ttis cheaper than diesel

137.  What is the role of large bundle shealth cells found
around the vascular bundles in C; plants ?

(I} Toprotect the vascular tissue from high light

intensity
(2} To provide the site for photorespiratory
pathway
[(33 To increase the number of chluroplast for thc‘]
operation of Calvin cvde Answer
(#) To enable the plant to tolerate high
termperature

138. Read the following statements on lipids and find

out correct set of statements

(a)  Lecithin found in the plasma membrane is a
glycolipid

(b}  Saturated fatty acids possess one or more
¢=¢ bonds

¢}  Gingely oil has lower melting point, hence
remains as oil in winter

()  Lipids are generally insoluble in water but
soluble in some organic solvents

(e)  When fatty acid is esterified wilh glycerol,
moneglycerides are formed

Choose the correct answer from the options given
below :

(1)  {a} (b)and (d}only
(2)  (ak(byand (chonly
{3 {a),(d)and () only
(@ (@ and (e)only

] Answer
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139. Gt~ 1 gt - [1 % e o gofera it
g1

140.

141.

142,

143,

HE -1
(@) FEER () TORpHRE I
TR I & T T e
BHE S gudt s g
e B E
b) Y (@) AR R S v
TR W g 2 2
(c) U-HEFD (i) TR T F Foua Sar i
HR IR i <A g,
=T T ) oEr §
() STER () TS frg TR % W
g T T B & 2R T e
B ATF Yo FS B
FreAfifen femmed # & wl SR gFm |

W ) (0), ()~ (i), () - (i), () - (iv)

) (@)~ i), (9) - (), (c) - (iv), {d) - (il

(3 (a)- (). (b)- (i), (c) - (i), () - (iv)

()  (a)- (i) (b) - (i), (c) - (iv}, {cI) - ()

A UF AT S e e % e S Em
o o <@ Toeeie (arphim) wer = Sifm+w &
=1, Tafys wvEi F1 e w1 vl v 2, 75 =9
W1 419 T 5 Ty wr e mm A & 7

(1) SRRz (S g )

(2) o e (oe fouoit)

(3) = A (S )

() RS fRgE o (e e s
AL+ Teofafas dfgies @y frgdn § &
aﬁammﬁ@ﬁ@muﬁaﬁnwﬁmm
TFmE?

() SGTATTCY.
(2) SGATACTY:
(3 SEGAATTCY: ¥CTTAAGS

4) SCICAGTY; ¥GAGTCAS

U WHE T WER fEE W e s 99,
{+ ) Torg =1 eyt e & vy F femm
~ ) o =i sAfge= EriE % w9 F i (o) =
Tt eeai=m F w9 § g | fsfaiEw
oY & e o, 30 e § it u
A1 W ( +) o o i R (- ) e awm & 7

FYCATAAGY
YCTATGASY

(1) EHl

(2) o

(3) ST Tt

(4 weHifam

Fr=ieiEa § @ %/, FERRE T% F 0 @ e
=7

(1) =l o) gEE

(2)  iEmen fum 5 Fer

(3) At Ry

(4  FEH w1 AT

Code-R1
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139. Malch List- L with List-1I.

140,

141.

142,

143,

Liat-1 List-11
(a) Metacentric (i) Centromere situated close
chromosome to the end forming one
extremely short and one
very long arms
(b} Acrocentric  (ii) Centromerc at the terminal
chromosome erd
[€) Sub- (iii} Centromere in the middle
metaceniric forming two equal arms of
chromosomes
(d) Telocentric  (iv) Centromereslightly away
chromosome from the middle forming
one shorter arm and one
longer arm

Choose the correct answer from the options given
below :

(1} (a)-{i). (b)-(ii), {c} - (1), (d) - (iv)

(@

(ﬂ} (m} E*} - (D), {c} - (iv), (d)- () | Answer

3) Ii (b) - {ir1), {c) - {1i)..(d) - (iv)
4 (a)- iﬂ} (b} - (i), () - (iv), (d} - (i)

Ifa geneticist uses the blind approach for sequencing
the whole genome of an organism, followed by
assignment of function to different segments, the
methodology adopted by him is called as

(1} DBioinformatics

@

Sequence annotation } Answer

(  Gene mapping
()  Expressed sequence tags

In the following palindromic base sequences of
DNA, which one can be cut easily by particular
restriction enzyme ?

(1) SFGTATTCY; YCATAAGY

2} SGATACT3; ¥CTATGAS

E)

5¥GAATTCY; ¥CTTAAGS | Answer

4 SCTCAGTS; ¥LGAGITULAR

While explaining interspecific interaction of
population, {+) sign is assipned for beneficial
interaction, (—) sign is assigned for detrimental
interaction and () for neutral interaction, Which of
the following interactions can be assigned { +) for
one species and ( — ) for another species involved in
the interaction 7

(1} Competition

(@

Predation J Answer

(3) Amensalism
(1] Commensalism

Which one of the following will accelerate
phusphorus cycle ?

(1)  Rain fall and storms

Burning of fossil fuels

)
(#)  Volcanic activiky
(4)

Weathering of rocks ] Answer
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144, TrAfAfEd § ¥ B W OIM EEm WAt gt | 144, Which of the following occurs due to the presence
& i Iofeafs F wRo ES E 7 of autosome linked dominant trait ?
(1) Sesfam {1}  Thalessemia
(2) TeH Oe gquq-{ﬁ (g= a.?lﬁna;[ T (2) Sickle cell anasmia
(3) TR T ((3)  Myotonic dystrophy ) Answer
(1) eI (4}  Hacmophilia
THAGTE 1 Al T 9 fafore e = =it | 145, The anatomy l.'?f springwood shows some peculiar
&) Frafates § § ag9z® & favg & 5o 5 i fcal_mes. Id;nufy the correct set of statements about
e # g springwood.
@ @ it oy e & (a) Itisalsocalled as the carlywood
. ’ . i {(¢)  Inspring season cambium produces xylem
(b) :'r-aﬁ *q ¥ ﬁqﬁ, TRt Atfeeht AT e elements with narrow vessels
' IEFF:IT l . {©)  Lislighter in colour
() % Tok U1 el 71 . .
. . {d) The springwood along with autumnwood
(d)  THRE S T T T 7§ E § shows alternate concentric rings forming
ﬁ%%ﬁaﬁaﬁwaﬂm% annual rings
(€} ST A A B R {(e)  Ithaslowerdensity
RS GIEECREE Tk '\‘:ﬁﬁ?ﬂT gﬁﬂ{ : Choose the eorrect answer from the aptions given
1) ), (@3 o) pelow:
(21 e i), (b), (d) R (€ (1 (c) {dyand {e) Only
oy e AR () (). (), (B and (e) Only
(4) G (), (b) 3 (d) (®  (a). (). (d) and (e) Only ) Answer
ﬁ (@) (a), (b)and (d) Only
A =1 Fa fow T ¥ : wF Froeemems wew (A) 3
£ TEU I (R) =1 146. Given below are two statements : one is labelled as
. Assertion (A) and the other is labelled as Reason
SRS O Assertion (A):
i feora Sl 3 forg, i e # 1 o
Mendel’s law of Independent assortment does not
FUT(R): hold good for the genes that are Tocated closely on
Tt w0 # wratm e o wea = s the same chromosome.
G| ‘%’I Reason (R):
I FoA & el §, freiatEa faeed O ol Closely located genes assort independently.
FFAY [n the light of the above statements, choose the correct
M) (A) TR T &, T (R T R answer from the options given below :
@ (A) s R) # T F af (R), (A) 5 fore wgt {1} {A})is notcorrect but (R) is correct
e 2 (2} Both (A) and (R} are correct and (R) is the
3 (A) o (R) 3 T % S ®), (A) % T correct explanation of (4)
=T T ¥ ) ’ (3 DBolhia) i].ul{l (R) are correct but (R) is not the
. correct explanation of (A)
@ (A % T (R) T2 T ¥l [(-Lj (/) is correct but (R} is not correct } Answer
Trerfeatias & 9 fFm A=A T W
- ) F bl T 147.  ‘Transposons can be used during which one of the

(- = T (S srpmmm)
(2) e sfaen Afafea
i6) B = 4 | L

(4 wmErfEEmTR (Efatad fas)

following ?

(1)  Genesequencing
i2)  Pulymerase Chain Reaction

()  Genesilencing ] Answer
4)  Autoradiography
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148. T I 5H WelEH AEE 9% F WFF WAl | 148, Match the plant with the kind of life cycle it

wifam exhibits:
W_ 1 H‘\#‘ 11 List -1 List-11
@ T (i g WW@ (a) Spirogyra (i) Dominant diploid sporophyte

vascular plant, with highly
reduced male or female

Taed FA% ey, fsay

T v T pEEEf gametophyte
ST o & (b) Fern (i) Dominant haploid free-living
b (i) gwiEt mfore wmeEw gametaphyte
TR () Fumariz  (ill) Dominantdiploid sporophyte
c) :;qﬁﬁ-m (i) mmm alternating with reduced .
R | sl
Jicirs v} aminan apiol cary
o hd 4 imliﬁ*h‘lﬁ:f%‘iﬁ F =Y gametophyte alternating with
TRT=I1d B X partially dependent
dy HEEH (iv) "J'iﬂ?ff a;l'llﬁ'lﬁ Rl multicellular sparophyle
THF G, W A = Choose the correct answer from the options given
¥ fadyr sgwifyst below :
STSTEefE § ukfE (1) (- i), b} - (iv), () (i), (cl) - i}
o E (2)  (ay-{ivh (b) - i), {c) - (i), (d) - (iii)
T VI [13} (a} - (i), (B) - (i), () - (iv), () - i) ] Answer
W@ 0.0 0.0 (i @ G- () (01~ () -0 (- 1)
2 (a)-(iv}, (b)- (i}, (c) - (i), (d) - {1ii) 149.  Addition of more solubes ina given solution will :
G) (a)-(m), {b] (i), () - (iv), {d} - (i) (1)  notaffect the water potential at all
(4} () - (iii), (b) - {iv), (c) - (i), (d) - (i) i2) raise its water potential
149, U= T58 T oo ¥ v faem foam § = Em [H} lower its waler polential J Answer
y = favye 3 2 gy 42 g2 (4)  makeits water potential zero
(1) _ =
@ = foerm =g 150. Which part of the fruit, labelled in the given tigure |
3 = &y = 8 9= makes it a false fruit ?
(4)  THS =0 G I aEm C :
150, S st A fafem, e o A A 2 Seeh R
T AT E 2 gl
o
C ' _ ﬁ"ﬂ
U ’ - ; E i p 4
[ 5 -4 - -
}%m (1) D—Seed
B {2} A — Mesocarp
o {3 B—ILndocarp
o b _ja“ﬁr (@ C—Thalamus ] Answer

(2) A — HEAREATSE

@) B s s Section - A [Biology : Zoology)
3 — #HA:FEIT

151. In the taxonomic categories which hierarchial

() € THE arrangement in ascending order is correct in case of
animals 7
YT - A ( Frafaar : witnfass ) (1} Kingdom, Order, Phylum, Class, Family,
e e o . . Ceenus, Species
151. WvE § S Ha R W A @  Kingdom, Phylum, Class, Order, Family,
AR A H wE ?j ] [ Genus, Species Answe r]
(1) =, ‘T”T 'H‘:f =, T, Ele'T, o= (3}  Kingdom, Class, Phylum, Family, Order,
(2) A, T, =, T, F, 99, S Gienus, Species
(3) I, 7, W, FA, T, 591, ofeie 4)  Kingdom, Order, Class, Phylum, Family,
() Fa, T, 5, F, J, ofeies Genus, Species
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TEIEA TourrT (ADA) 1 %551 F1 5 fafrem &
it 1 g oA S TR
Tl AETAET BE & =i

n ;@mmmmmﬁ
|

152,

(2) = AR § EEee gaes wm=w far
TATE |

(3)  ADA G F AT T Frfemat | feme
S Yt e =i i § wew fea
A E

(4) Il % = F EEE W F A e
fiepan =TT & 1

YEAE F TEAENT W wfrren FRiys M
AEFAREIGT-T F A & 70 e &

(1) ey ahEgTE

(2)  EEEiSH v

3y Tl EEw ATy

() CEfas e

YL

THI 3TFET U T aie @ o it A9 21w £
YT

fafere wrdfien Ffand f5= Afreas =23 &
THIETIHIGh A =1 T T & S T H
= A

T 20 T e W A, ﬁmhﬁﬁm
e TH 997 ] |

(1) Y1 & iR e T

(2) = WG TE e A

(%) TF e T e L T E

() e HH E FER T 1 e 2

153.

152,

Tt e & &, T & =9 99 F s e S
Y UE THUT A

(L Y g FEy

(2)  FEE, B HH AT

(3) W acfTeq Fig

(4) T FTGE BT

e BrEifren 1 T Wiren TAfe | uw e
Bﬂﬁﬁﬁm——rﬁﬁﬁ T 39 THiw Fi gegE

155.

156.

EIHEE UeE T 2
=
2) 01
3 10
() 1.0

Code-R1

_i,ITﬂi,ﬂ’l %

152, In gene therapy of Adenosine Deaminase (ADA)
deficiency, the patientrequires periodic infusion of
genetically engineercd lvmphocytes because -

[{1} Genelically engincered lymphocytes are nnl]
immortal cells, Answer

(2)  Retroviral vector is introduced into these
Iymphocytes.

(3)  Gene isolated from marrow cells prod ucing
ADMA is introduced into cells at embryonic
stages

(4)  Lymphocytes from patient’s blood are grown
inculture, outside the body.

153, Identify the microorganism which is responsible for
the production of an immunosuppressive molecule
cyclosporin A
(1) Strepiococcis cereodsiae

(@ Trichodering polysporm JAnswer

(@) Clostridivm butylicum
&) Aspergillus niger

154,  Given below are two statements -
Statement I:

Fatty acids and glycerols cannot be absorbed into
the bloed.

Statement IT ;

Specialized lymphatic capillaries called lacteals
carry chylomicrons into lymphatic vessels and
ultimately into the blood. _
In the light of the above statements, choose the must
appropriate answer from the options given below -

(1} Statement I is incorrect but Statement 11 is
correct Answer

[ (2)  BothStatement Land Statement IT arc cor:ectJ
3)  Both Statement | and Slatement II are
incorrect
(4} Statement T is correct bul Statement [T is
incorrect

1353. In which of the tollowing animals, digestive tract
has additional chambers like crop and gizzard ?
([ JAnswer
{2y Corous, Colnntba, Chameleon
(3} Bufo, Balnenopters, Bangaris

{4y Catla, Columnba, Crocodilys

Pazo, Potttocula, Coroies

156. I ‘8" Drosopilu in a laboratory papu]atmn of ‘80"
died during a week, the death rate in the population
is___ ___individuals per Drosoplila per week.
(1) TETO

(@ 01 ] Answer
3 10
(4) 10
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e < e ey ¥ 157,
U1

158.

159,

160.

161.

18l

T HIeer= H1 FHel F1 2 7
1) CpHy0py

(@) CyoHapOyp

(3)  Cyallyy04,

4 CaHay,
YHIEIT F SR Yo A wefn sl
TEEIAT ;

(1) ==

(2) = =R

(3) wifAfEm

(4) S

AR EyE R o
Eapi

BALUNI

TRfe T foehe Ut aveeen & Taed i =i 7 wost
FOAL:

FifrrsAt W AT TE e |

R T Frwm i = e i § g
I AL T F

(1) AT TEG € ol e 1108 & |
(2)  =F e I UE e 11
(3 &F e [ TE R 17T
) FEAIFE T AAlEA wmET U oA R

9 W FE W G S w= g e e
AE?

(1)  EEdFUEel = e

(2) = A e w g = fEam
(3) ied FEEESE U

(1) I TR

FI I WA FEESHT afire 1 Al . e
= 1 TenTae wa d 0

(1) &

0 HRAET
(3 Herer

4 vy

UF TRESVA fF, wEe F A s = Srew
m@um% AR TEF F BT CH 0, F

TR G & 9T % e T a e B
HATIL:

TR TG T R e

T ot g e F warw § 9 fau o fawes g
TEH 3T I H =T T

(1)  WIT] T & SF FE [T 2

(2) A wmETITE w1

(3)  EF HET L UE w1 T §

4) eI HE ¥ S w0 T

158,

150,

160,

161.

162,

_alﬂﬂ[i,ﬂ’l .

Given below are two statements ;

Statement 1 : '

Auntoimmune disorder is a condition where body

defense mechanism recognizes its own cells as

toreign hodies,

Statement I1:

Ehoumaloid arthribisis 3 condifon where body does

not attack self cells,

Inthe light of the above statements, choose the most

appropriate answer from the options given below ;

{1} Statement T is incorrect but Statement I is
correct

(2} Both Statement Iand Statement T are correct

(3)  Both Statement T and Statement 1T are
incorrect

(4)  Statement 1 is correct but Statement 11 jsj
incorrect Answer

Which of the followi ing Fum_tu_rn*; 15 nol performed
by secretions from s
Thgestion of disaccharides Answer

2 Loenbrol bacterial population in moulh
Digestion of complex carbohydrates
Lubrication of oral cavity

Nitrogenous waste is excreled in the form of pellet
ur paste by

(1)  Pavo JAnswer
2y Chnithoringucies

3y Selmuandr

{4 Hrgpocampins

A dehydration reaction links two glucase molocules
to produce maltose. Tf the formula for glucese is
CoH, 20, then what is the formula for maltose 7

(1) CyaH 0y
(2)  Cpally Oy
(3] CoHa 0,
(#  Calla0y, ]Answer

Identity the ascxual reproductive structure
associated with Pericilliinmg

(1)  buds
(21 Zoospores

(3 Cuonidia JAnswer
) Gemmules

Given below are two skalements :

Statement [ :

Thecoagulum is formed of network of threads called
thrombins.

Statement 11

Spleen is the gravevard of erythrocytes.

Tt the light ot the above statements, choose the most
appropriate answer from the options given below

(1} Statement T is incorrect but Statement IT is ]
carrect Answer

{2)  Both Stabement L and Statement Il arc correct

(3)  Both Statement T and Statement II are
ncornect

(4} Statement T is correct but Statement 11 is

incorrect
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183,

164,

165,

146,

167.

168,

(1 AT
(2) ST
@ ==

(4 i

e 4 =\ W i e T e wd g R

(1) 099 godmo  cawlaen fam foody =
FHI YUl HT SR aromr B )

@ E g - S e

(3)  HUEIERT T Cal - T H AT T

(@) Tt A - sEETE SR Rraw

qﬁwmﬁﬁhwﬁl&r&ﬁmum
B E
ﬁmﬁaﬁ?mmwmmwmaﬁﬁﬁ%?
(1) OpUECO, % o ¥ o o8 wam Fan &)
(2) ;ﬁﬂﬁﬁfﬂﬁ‘@ﬂﬂmﬂmﬁgﬂﬂm
i
(3 a-v3 g e R
(4) Hﬁ:ﬁfﬂﬁﬁﬁgmlwmiﬁﬂwm

16 -
ﬁmnwmmﬁmﬁmqmﬁmu:nl
Al T o=l o __ml O, fafE =
HFEME
(1)  10m
() 2ml
(3) Sml
4  4ml

A2 9 Fem fgm o # 'ﬁwmm{mm
THI &HNUT (R) & |

U (A):

afta girm f=7 afey omm o s == &
AL g1 A B 2

HIAUT(R) ;

AR YA 1 AT 0 TS T 9 A
%1

TR f5u T Al &y € fre faei 4 efea T
= F

(1) (A) e & T (R) TR R

(2) = (A)TE(R) TS E T (R), (A) FT T wn

4
(3) B (A) T (R) T T FEA (R), (A) T T
R T |

(4)  (A) =R T OlEA (R)TEE 2

T 4 a0 <ferr 3 fama § #1971 97 T
23

(1) WHL.M. fafae gy w5 2o #

(2) LA, H eamEm {am  frre En #
(3 THIAR ¥ e = aw

(4)  WHREE § e amd s, i O E

&.a
Code-R1 —I:l:_p:[ﬁﬁr%

163. Detritivores breakdown detritus into smaller
particles. This process is called
(1)  Decomposition
(2)  Catabolism
[ (3)  Fragmentation ] Answer
(& TTomificalion

164, Which of the following is a correct match for disease
and its symptoms ?
{1} Muscular dystrophy - An auto immune
disorder causing progressive degeneration of
skeletal muscle

[(2] Arthritis - Inflammed joints ] Answer
Letany - high Ca-" level causing rapid
spasms.

{4} Mvasthenia gravis - Genetic disorder
resulting in weakening and paralysis of
skeletal muscle

165. Which of the following is not the [unction of
conducting part of respiratory system >  Answer
[ (1} Provides surface for diffusion of (3, and COy ]
(2 Ttelears inhated air Irom forclgn particles
() Inhaled air is humidificd
{4)  Temperature of inhaled air is brought to body
lemyprerature

166,  Under normal physiclogical conditions in human
being every 100 ml of oxygenated blood can deliver
___mlof Q5 to the Hssues,

(1)  10ml
2} Zml
(31 5ml
4 4ml

167, Given below are two stalements @ one is labelled as
Assertion [A) and the other is labelled as Reasan
(R).

Assertion (A):

Osteoporosis is characterised by decreased bone

mass and increased chances of Fractures.

Reason (R):

Common cause of oslooporosis is increased levels

of estroger,

In the light of the above slalements, choose the most

appropriate answer trom the options given below

{1} {A)isnotcorrectbut (R} is correct

(2} Both {A) and (R} are corrext and (R) is the
correct explanalion of (A)

(%3 Buth {A)and (R} are correct but {R) is nat the
correct explanation of {A)

[ {4)  (A)is correct but (R) is notcorrect ] Answer

168.  Which of the following statements with respect Lo
Endeplasmic Reticulum is incorrect 7
(I} SERare the sitcs for lipid synthesis
(2} KER hasribasomes abtached to R
{3} SERisdevoid of ribnsomes
[{4] In prokaryotes only RER are presunt] Answer
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169. =@ Fua fgwm € . 169, Given below are two statements :

el Statement 1:

IGELCE '@ﬂﬁﬁlﬂﬁl’ DNA F =779 # f?'l'[{ ferfimes Eestriction endonucleases recagnise specitic

?m:r e T’c-'T w1 ¥ fag -ﬁm_—@ﬁ-ﬁ W_\g ii?izr;;uzzqzz;ﬁzrﬂﬁ known as palindromic

b Statement I :

E3: eI - Restriction en;lnnucle.a:am cut the DN A strand a little

afeaer @w DNA T[F i Teft-gifees wet away from the centre of the palindromic site.

FHFEHAG AR HE | [ the light of the above statements, choose the most

F fom T el & g A e fiu e fawed 4 appropriate answer from the options given below :

T 3T T 95 = (1) StatementI is incorrect but Statement 1T is

(1) OV T AR w1 T & cotrect Answer

@) 3 R waT I EE E (2} Both Statement Iand Statement I are correct |
{3  Both Statement I and Statement I1 are

(3) EF AT HATIUTEAE |
(4) FREFTITE & AFT T TG

imcorrect
(1)  Statement I is correct but Statement 11 is

170. e o =i & 391 = =, st 399 W incorrect
Tl TR FHE 1 A Tl i gSi w1 A 170, Breeding crops with higher levels of vitamins and
wed § - minerals or higher proteins and healthier fats is
(1) = E-TFHeEE called :

(2) He-Edq (1} Bin-accumulation
(3) ar-Yfafeiem (2} Hfr::- magnjfi&?lﬁun
@) =EE-RfERE 3 Efo—rem-rsfhai‘mn

171. afz ©F BT, a7 1 o 1.1 e %} S— [ {4y  Biv-furtification ]Answ er
&1 T i T AT e 7 171, If the length of a DN A molecule is 1.1 metres, what
(1) 66100 9Ll will by the approximate number of base pairs 7
2y 33%10° =, (1} 6.6x10°bp
@ 66x10° Ff, : (@ 33x10%0p JAnswer

&
M) 33x100 90, B) 66107 bp
[4)  33%106 bp
172, 2 fauem % A & S m a7
172. Regarding Meiosis, which of the statements is

(1) el fasre= 3 wvsa = m s =it " incarrect ?

ETEIT € _ {1y  TFouwr haploid cells are formed al the end of
(2) s favem 1 G aEmar - st Meiosis-11

[ERIEESpChitd {2}  lhere are two stages in Meiosis, Meiosis-1
(3)  DNA FITH st = # S waem | and 11

o & [{3} DNA replication occurs in S phase uf]
@) FE A F P ue g iletesls-Il Answer

faure LI S e {4} Tairing of homologous chromosomes and
recombination occurs in Meiosis-I

173, WiEHfoF oo o st =t e oo o9 =5t

o o 3 3 173. Natural selection where more individuals acquire
EE e FPR HEd g SR A specific character value other than the mean
[

character value, leads to;

{1) Wqﬁaﬂq {1 Random change

(2) Tt aiE (2)  Stabilising change

(3  Tewrerr ufteds- ( (3 Directional change JAnswer
(4) TEEEF 9fiE (4)  Disruptive change
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ferarss S =1 39T o wam & 1of P % = &
T E?

(1) i s g

@) TulvE ey

(3 Fedy

(4 AwiRfed s g
T 4 F HeEe S T Y 2
(17w

2 =

(3) THEEE

(4 TR

Toer=g B 2t 21 A Fraem 7
(1) w8l OF HegEe

(2) =

(3)  HeEE

(4) TEEEY

e ¥ Hieh £ T Wi o IfiEde 3w o oo
UG §To 810 3 T T = ke | 9fE gfg WA

H e =T W A g 9Tt = FRm 2

(1) ST, TeH TT% w0 F oy g4
(2) e z S F ATEEA B

(3 z,y,aﬁmﬂﬂﬁﬁﬁﬁﬁﬂ

(4)  z oy, aSE & TR ]
FIEF 5% F 5 (ipeadl sifeert % e o T4 39feq
BATE?

(1) Tt teft

(2)  sHafae fewr

(3 IRy

(4)  fier s

F ¥ 1 ¥ ®9F g & Teu 6 E o

HEAAA o Tor ol = & 2

(@) THF Fereawy S g o 5

by  FHF F AT st fawsa ameE E9
T TR

[0 A e o o @ omfie F adh
RIS TR TR 2 w2

(d)  am 3w ey g BfEd w2l T (LH)
TH g T Fme g et dm d

@)  T% e o Wi g )

= Toepel & 9 WA o s =

() e (), () W (e)

@) F ()T ()

(3)  FA ()T ()

@ T (b), (d) T (o)

Code-R1

_ZITﬂE,ﬂ’I .

174. Lippe's loopis a type of contracephive used as -

{1}  Copperrcleasing TUD
(2]  Cervical barrier
(3 Vault barrier
(@  Non-Medicated IUD ] Answer
175.  Which of the following is not a connective tissue 7
(1) Nevroglia ] Answer
(2]  Blood
(3 Adipose tissue
(4  Cartilage
176, Tegmina in cockroach, arises from
(1) Trothorax and Mesothorax
{2}  Trothorax
[ (3)  Mesothorax ] Answer
(4}  Mletathorax
177, Inan E.colistrain i gene gets mutated and its product
can nol bind the inducer molecule. If growth
medium is provided with lactose, what will be the
outcome ?
(1)  RNA polymerase will bind the promoter
region
() Only z gene will get transcribed
(3)  z y ageneswill be transcribed
[(4} z, . a gones will not be tranﬂ]alod] Answer
178, Which of the following is present between the

179.

adjacent bones of the vertebral column 7

(1) Smooth muscle

(2} Intercalated discs

(3 Cartilage ] Answer

{4)  Areolar tissue

Which of Lthe following statements are true

for spermatogenesis but do not hold true for

Oogencsis 7

(a)  Trresults in the formabion of haploid gametes

{by  Differentiation of gamete occurs after the
completion of meiosis

) Meiosis ocours continuously in a mitotically
dividing stem cell population

{d)  ltis controlled by the Luteinising hotmone
(LH}and Fallicle Stimulating Hormone (FSH)
socreted by the anterior pitnitary

e}  Itisinibaled at puberty

Choose the most appropriate answer from the

options given belaw :

() (b (c)and (e) only ) Answer

(2) (<) and (e)only

3 (b andiclonly

(@) (b).(d)and (¢) only
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180,

181,

182,

183.

134,

a5 T H AT AR T
(1) =
2

CXCEE

IR T IR AeTEsl o " w ST
¥

w11

I IERTTSH H IRT] JH i TiHarE |

= T T = & vy | T fawe 4 | e
3= = = == ]

(1) HEAITW & ofFT wea 521 31
(2) FHRITITE FOT1EE
(3) SFwET U YT TR ¥
(4) HUTITE T T w1 e

e &1 e Teu e ¥ e & vk sifimmer () E o
T T (R) & |

TR (A):

BV TETeE T ¢ TR gt Tk gatae T E
FUT(R):

TIF T2 § g Ueee B iatds 5 < 3
I YAl % T o e ot § 4 wad afyw
IO T = A A

(1) (A) =& 76 § =T (R) 7= 81
(2) ;ﬁ{mqﬁmmﬁﬁﬂm{m,mﬁmﬁm
I

(3 I (A)IH (R)HEE T9I(R), (A) Fi L =W
& T

@) (A)TE E AT (R) T R

T T 5 W

(1) oo faes T 1 Hew =

(2) T EF F A TS T T

(3)  FEe 3= A 1 T F R

(4) e HF2oT T 1 HEm

A1 o 3 dal § T W e

Ly TugAtEg 1 e v § 2

(2) A H e oA T TR e E

(3) TG A R A

(4)  FHATETEH o st A

Code-R1

150,

181,

182,

183.

154,

(@

_aITﬂi,ﬂ’l .

At which stage of lifc the oogenesis process is
initiated ?

(1y  Adult

Fuberty

Embryonic development stage
bBirth

JAnswer

{3)
{4

Given below are two statements ;

Statement 1 :

The release of sperms into the seminiferous tubules
15 called spermiation.

Statement IT;

Spermiagenssis is the process of formation of sperms
trom spermatogonia.

In the light of the above statements, chaose the most
appropriate answer from the options given below

(1) Statemenl I is incorrect but Statement 11 is
correct

(2)  Both Statement I and Statement ITare corroct

(3)  Both Statement 1 and Statement II are
mneorrect

E{b Statement I is correct but Statement 1T i.f]
incorrect Answer

Given below arc two statements ; one is labelled as
Assertion (A) and the other is labelled as Reason
(R).
Assertion (A)
Allvertebrates are chordates but all chordakes are
not vertebrates.
Reason (R):
Netochord is replaced by vertebral column in the
adult vertebrates.
In the light of the above statements, choose the most
appropriate answer from Lhe options given below
(1) {A)isnotcorrect but (R) is correct

[[2] Both (A) and {R) are correct and (R} is the

correct explanabion of (A) Answer
(3)  Both (A} and (R) arc correct but (R) is not the
correct explanation of (A)

i4) (A iscorrect but (R)is not correct
In-sifu conservation refers to
(1}  Conserveonly extinct species

[{2) Protoct and conserve the whole ecosystern ]
*)  Conserveonly high risk specics
(1)  Conserve only endangered species

Sclect the incorrect statement with refercnce to
mitosis -

(1)  Splitting of centromere occurs at anaphase.
(2)  All the chromosomes lie at the equator at

metaphase,
[(ﬂ] Spindle fibres attach to centromere nl]
(1)

chromusomes. Answer
Chromosomes decondense at telophase,
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. CLASSES -
TR A ™E: 1685,  Given below are lwu statements ;
T Statement [ ;

- L TR @ e = A i';illi.fefrtlﬁrr[;snm can pass through less than 1 micron
w7 % | Statement IT;
A ERIE Mycoplasma are bucteria with cell wall
AT Tt Fafs o ARG &1 In the light of the above statements, choose the most

186.

187.

188,

=1+l % T | o el § @ wwd 3
Euienh-eel i

(1) FETITEA & FAfFT HET w8 &
(2)  EH wETIUE ST 1T TR
(3 S e 1 UE e 1T
{4) HETLHE! § U wYT TR 2

I - B ( Srafaqr ; witaErT )
T F i T R R SR e -
HE - 115 A o =4

G- 1 qr- 11

{a) EFEE (i)  FAST uE AT 7 2

Wy e (@) e | e w
Tt WEIE] fopan 1 9 55 §

() FEMMEE (i) WHA F =R AEE T U

{dy TIm (iv) & TTTeT e ) B
SR T o e e E

(1 &)~ (i), () - (i), () - (i), (d) - (iv)

@ (a)- (i), (b) - (i), () - (idd), (d) - (i)

3 {a)-(iv) () - (i), () - (i), {d) - (i)

(4) (- (). (by- (iv), (€ - (i), () - (i)

At = S % A= e A W TR e ke
5%, bdc-15%, b & d-9%,a & b-20%, c&d - 24%,

add-29% | TF TG R W ST AW F HH 1
w1 ?

(" a.cbd
(2y  ad b.c
(3 dbhac
4] abecd

ST a W & fawg & e Fum = S o .

(1) ITEA AFRan = % 99 S afafre
WeRTL % T

(2 9 TN IR F veel an R dvee
A EaT % 7 i e e g 2

(3 T T F T ae i w e
S i &

4

THTA Ao 9™ oS w1 T &
2t

186.

157,

188.

appropriate answer from the options given below -

(1) Statement | is incorrect but Statement 11 is
correct
(2)  BolhStatement T and Statement IT are correct
(3  Both Statement I and Statement Il are
incorrect
(4)  Statement T is correct but Statement 11 is
[ incorrect Answe J

Section - B (Biology : Zoology)
Match List - I with List - ITwith respect to methods
of Contraception and their respective actions.
List-1T List- 11
Diaphragms Inhilil ovulation and
Implantaticon
Contraceptive (i) Tncrease phagocytosis of
Fills sperm within Uterus
Intra Uterine (i} Absence of Menstrual cyele
Devices and ovulation following
parturition
{iv) Lhoy cover the cervix
bI:av.'_:I-c:ing the entry of
SPE."F"I'HS
Choose the correct answer from the options given
below :
(1) (a)- (i), (b) - (i), (<) - (i), {d) - (iv)
(2) (2= (iv), (b) - (i), (c) - (i), (d) - (ii)
() (@)- (). (b)- (i), () - (i), () - (i) | Answer
3 (a)-(u), (b) = (iv). (c) - (i) 1) - (1)
The recombination frequency between the genes a
GZcis . bdrois15%, b & dis 9%, a & bis 20%,
Cdrdis 24% and a & d is 29%. What will be the
sequence of these penes on a linear chromosome 7
(1) achd ) Answer
@ a.dboc
{3 d,b,a,c
(4)  ab.cd

Select the incorrect slalement with respect o
acquired immunity,

(1)  Acquired immunity is non-specific ype of
defense present at the time of birth. Answer
Frimary respanse is produced when our body
encounters a pathogen for the first time,
Anamnestic response is elicited on
subsequent encountors with the same
pathogen,

Anamunestic response is due to memory of first
encounter. :

(a) (1)
(k)
tc)

Lactational
Amenorrhea

()
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190.
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W, SRS WY T Wi frar
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A TE G ¥ Temen =i an

WiF-EHA FH 1 979= 15 femeita 2ty

A F o weiE T = AarE ae

(¢) g@ﬁﬁﬁfﬁméﬂﬁﬁmwmw
|

= fomredi § werdy 3fam s 1 =9 3a 4

(1) & (c), (d) T (&)

@) FA (), (b) W (g)
@ FE()
@) (0w ()

Code-R1
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192,

_alqﬂ}i,ﬂ’l .

Select the incorrect statement regarding sy napsos :
7 Impulse fransmission across a chemica I]

s¥hapse is alwavs faster than Lhat across an
clectrical synapse, Answer
I'he membranes of presyvnaptic and
postsynaptic neurons are in close proximity
in an electrical synapse

Electrical current can flow d irectly from ane
neurin into the other across the electrical
synapse.

(4} Chemical synapses use neurotransmiters
Given below are two statements

Statement I';

Tnn a scrubber the exhaust from the thermal plant is
passcd through the electric wires to charge the dust
particles.

Statement IT:

Particulate matter (PM 2.3) can not be removed by
scrubber but can be removed by an cloctrostatic
precipitator,

In the light of the above statements, choose the most
appropriate answer from the options given helow -

£F

(3)

{1}  Statement T is incorrect but Statement 11 is
correct Answer
((2)  PothStatement T and Statement I are Lorract )
{51 Bolh Statement T and Statement Il are
CIncorract
(4)  Statement 1 is correct but Statement 11 is
incorreck

Which of the following is a correct statement ?
(1) - Mycoplasma have DNA, Ribosome and cell

wall

2)  Cyanobacteria are a group of au lotrophic]'
organisms classificd under Kingdom
Munera, Answer

(3] DBacteria are exclusively heterotrophic
Organisms.

{#)  Slime moulds are saprophylic vrganisms

classified under Kingdom Monera
Statements related tw human Insulinare given below.
Which statement(s) is// are correct about genctically
engineerad Insulin ?

{a)  Pro-hormonc insulin contain cxtra stretch of
C-peptide
{b)y  A-peptide and B-peptide chains of insulin

were produced separately in L.coli, extracted
and combined by creating disulphide bond
betwoeon them.

{¢}  Insulin used for treating Diabetes was
extracted from Cattles and Pigs.

(d)  Pro-hormone Insulin needs Lo be processed

for converting into a mature and functional

hormone.

(e)  Some patients develop allergic reactions to
the foreign insulin.

Choose the most appropriate answer from the

options Fivenbelow: -

5

(2}

{c). {d) and (&) only
{a), (b} and (d) only

(3 (B)onty

) Answer

4 (chand [d) only
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1y Ofte s 2w % e e wi =g

F

(2} FEOEd TIE ST T = afiome &
(3)  IETEal UE AT oA i T Sami #
(4} TS W e R T S

194,

195.

1926,

Tl - 1 51 Gl - 11 T e &

el -1 -1

(dfam eoy) (S =)

(a) TAEHREA (@) ®EA

() TERE () eSS

@ T=REs (iiiy Wi

idy Wi (iv) Hufed 3=

T Toenedl 9 3 Wk 39 1 w599 =4

1y da) - (iv) (b)- (i), {c) - (1), (dl) - (ii)

(2} {a)-(in), (b)- (i), {c) - (iv). (d) - (i}

(2 (a)- (v (b)Y - (i), () - (1), (d) - (i)

1) (&) (), (b} - (iw), (c) - (idi}, {d) - (i}

e # #1 € Trartizs SR F a7

{a) Afiy iﬂéﬂ'ﬂ'ﬂlm@lﬁﬁmm

(b) A H Ca? 't & BRI TH ELA

() o AT SR Cal+ o s

(d) I e A Ca2 ¥ S FE

(0)  THIETEIEEZ % SHTYE @i SgHl

= ool & waw =faa s = w9 w1

(1) e (b) T (c)

(2)  Fa(a) T (c)

{3). =HaEd (b), (d) T (e)

4) AW (a) W (e)

Feadsmm e ward?

(1) el <@ A @Rl F BR o et
ag & W £ |

(2)  wleis Hge =i 35T 94 = Ay a1feg fHea
& forawn fave oo =T 2

(3 Afels ¥ vehics HHaT & FR IE & T
# foeert wE oo s e a €

(@) fy sTfafaem % <R wa sifEe @ Fem F
T ¥ 3 T

Code-R1

193,

1%,

195.

1%,

_alqﬁ[i,ﬂ’l .

Which of the following statements is not true ?

(1)  Flippers of penguins and dalphins are a pﬂjI]
of homologous organs Answer

{2}  Analogous structures are a result of
convergent evolution

{3}  Sweet potato and potato is an example of
analogy

(4}  Homology indicates common ancestry

Match List - T'with List - 11

List-1 Liat 11

(Biological Molecules)  (Biological functions)

fa) Clycogen {1 Hormone

() Globulin {ii}  Biocatalyst

{cy  Steroids {iil) Antbody

{dy  Thrombin fiv] Storage product

Choese the correct answer from the options given
brelow

() (a)-(iv). (o) - (idd), (c) - (i), (d)- (i))) Answer
(2 @ -, (b)), (c)- (iw). (d)- (D)
(3 {a)-(iv), (b)-{id), {c) - {3, (d} - (i)
(@) (2)- (), (b)- (v). (c) - {iti). (d)- (i)

Whirh of the Tollowing are not the effects of
Parathyroid hormone ?

{a}  Stimulates the process of bone resorption

1)  TDecreases CaZ™ levelin blood

{¢)  Reabsorptionof Ca®' by renal tubules

{d} Decreases the absorption of Ca®* from
digested food

(e Increases metabolism of carbohy drates

Choose the most appropriate answer from the
vptivns given below

(1) {b)and (c) only
(2} {a)and (c)only

[ {3 (b} (d)and {e] only ] Answer
4) ra) and {e) only

Which one of the following statements is correct 7

(1}

Increased venbricular pressure causcs closing
of the semilunar valves.

The atrio-ventricular node (AVN) genera tt's]

an action potonbal to stimulate atrial

contrachon Answer

(21 The tricuspid and the hicuspid valves open
due to the pressure exerted by the
simultaneous contraction of the atria

4}  PBlood movesfreely from attium to the ventricle

during joint diastole,
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197, HE- 1 - 103 o fies 4 197. Match List - 1with List - 1.
-1 -1 List-1 List-TI
@) EGEE G W P geast {a) Hronchioles {i} Dense Rezulac
S Cunnective Tissuc
®)  F i) e (b Gobleteell {Li) ]fizsuefl:nnﬂectivn
€ (iiiy e Saw (c) Tendons (iif) Glandular Tissue
@ (iv) Ty wdefifE (1) AdiposcTissue (iv) Ciliated Fpithclium
= famreat 7 O e 390 %1 999+ - Chouose the correct answer from the nptions given
1) {a)- (i) (b)-iv), (03 - (), () - 3 L —
(2 {a)- (i), (b) - (i), () - (i), (ul) - (id) (m {all-ELuJ'-{h_J-[WII.-(I:}-E"HdJ-m] Answer
@ (@)- 0. (0)- (i, (- i), () - @) @ @90 @ @ 1) @- 6
@ @G b)- ), ©- (), () - i S 1SRRG G ()

i {4 {a)- (i) (by- (i), (<) - (v), {d) - (iii}
198. =fE uF A ¥y =it vF TH 59 ¥ fao =0 % | 198, Ifacolour blind female mirries a man whose mother

Tt o oF 99 w9 o, T TmfE =9 siga was also colour blind, what are the chances of her

=1 TN == 2 Y progeny having colour hlind ness ?

M 100% () 00% ) Answer
25% @ 23%

(3) 50% (3 50%

@ 7% 4) 5%

199, F7= & F FlifT Hares w1 S vem wd g 2 | 10 :E:‘h “Fthf:"';'“ wingis not a desirable feature of a
. . e Joning vector
(1) = safE T e ITetE

[ (1) Presence of two or more recognition .‘i.itEﬁ]

(2)  WEAHfTTF Ht T Hi Sty (2)  Presence of origin of replication. Answer

(3 T i =t 3ufeafy (3 I'resence of a marker gene

(4)  UEhT WiAEYT A WE i 3t (4} DPresence of single restriction erey me site
200, 15N - dsDINA Flt =5 #?:‘?-:Tﬁf F Fifeepd My | 200 Ten E.colicells with 151_}11— dsDINA arg incubated in

m A WA m 1T§I a0 T2 7w medium containing N nucleotide. After 60

minutes, how many Facoli cells will have DNA Lotally

& o i o1 IR 5N J ofa: g=a 2t 2 free from 15N 7

M a0 (1) 80 cells

(20 20 (2) 20 ool

(31 A FifErERT (3) 40 cells

@) eoFIE (@) 60cells ) Answer
~alo- -olo-
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feferfiad (5T s 4 a2 :

Read carefully the following instructions :

G,

=1

10,

11,

12,

13,
14.

16,

il TR B T, T e T wed § gd
o { g WAty uE e gt ) wmy Hiae
T SATTETF | THET a T e i
T 7

myfEsFTF FEa e R mgfrmmwsife |

ZA YT T Hebd, TTUT & g9 wiAtefa e
TR Fehd ® et ) A Tty e gHd
wiEmst gRfrm s fF m s m e s an ns
T T 4 (91 = 7 | WA SO STl
T ISl T T 5 AT S F AT A
= o |

% M I e ], THEE T A9 yey -
TEE |

% aediwe a1 Tl 1 fa9m oref ¥ fan #i
e AT B A W

T TA-T9F T TE TR (TET F W) TR
farar il wilaped wilan 57 920 =d ) afg Tadt
whtarsft % T AT Tofat- T O EeTaT A6
o At Tz Arn o i =9 IO T AT
3T = v T ST AT’ = |

el T B T = 39T A9 6
T FE A W s F e ufendt, witer &
i o fafami g9 s §1 adtas A F
i1 TroE! = e T T F el v fafee
HATARE |

ot mrema | T g 3 59T U i hE
WA A6 T |

Tiey gt T T i T wie e S
T W AF T I AT e |

T =2 fe 9 sEs = TR e T T
=gt (9 forgs B oo = 1 sEem 5, e
1 ITEM T E AT

i}

a.

13,
14.

On completion of the tozt, the candidate must
hand over the Answer Sheel (ORIGINAL and
OFFICE Copy) to the Invigilator betore loaving
the BoomdHall. The candidates are allowed o take
awey this Teat Booklet with thom,

The CODE for this Booklet is R1. Make
sure that the CODE printed on the Original
Copy of the Answer Sheetis the same asthat
on this Test Booklet. Incase of dizerepancy, the
candidate should immediately roport the matter to
the [nvigilator for replacement of both the Test
Booklet and the Answer Shael.

The candwdates should enaure that the Answer
Sheetiz not folded. Do not make any stray miurks
on the Answer Sheet. Do not write your Holl No.
amyw hers else except in the specilied space 1o the
Tear Booklet/Angwer Shent.

[Tae of white wd for corpection is NOT permizaible
an the Answer Sheet,

Fach candidate must show on-demand sther
Admit Card to the Invigilator.

Wo candidate, without special permizzion of the
centre Superintendent or Invigilator, would leave
histhersear,

The candidales should not leave the Bxamination
Hall without handing over their Anewer Sheel Lo
the Invigilator on duty and sign (with time) the
Attendance Sheel twice., Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answoer Sheet and
dealt with as an Unfair Means case,

1Tze of Electromic M anas] Caleulator iz prohibited,
The candidates ave governed by all Rules and
Hegulations of the exammation with regard to thear
cornduct in the Examingtion RoomdTlall. All eases
af unfuir means will he deslt with as per the Rules
and Kepulationz of this examination.

No part of the Test Booklet and Answer
Sheet shall he detached under any
circumstances,

The candidates will write the Correct Test Bookles
Code a2 grven in the Test Booldet/Answer Sheet
inthe Attendance Sheet.

Compensatory time of one hour five minutes will
bz proswaded for the examination af thres hours and
20 minutes duration, whether such candidate
(having & physical limitation to write) uses the
facility of 2eribe or not.
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